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Question Number : 1 Question Id : 9767558523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option word CANNOT be formed by using the letters of the word given below?

APPRECIATION
Options :

1. * PATRON
2. ¥ CARROT
3. #* TROPIC

4. % IRONIC

Question Number : 1 Question Id : 9767558523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafefad fiee d I 9T Yeg VT § S i foU Weg & 31&RT BT UTRT &R & el ST off bl 82

APPRECIATION
Options :

1. % PATRON
2. % CARROT
3. ¥ TROPIC

4. % TRONIC

Question Number : 2 Question Id : 9767558524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following series:

BD, FH, JL, NP, RS
Options :

1. % FH

2. % JL

3. % NP

4. ¥ RS

Question Number : 2 Question Id : 9767558524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafRad saan # Tad ug I1d a3

BD, FH, JL, NP, RS
Options :

1. # FH

2. % JL

3. % NP




4. ¥ RS

Question Number : 3 Question Id : 9767558525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series:

ZWQ, XUO, VSM,
Options :

1. ¥ TQK

2. % SPJ

3. ®* URL

4. % RSM

Question Number : 3 Question Id : 9767558525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad aR e o1 Q1

ZWQ, XUO, VSM,
Options :

1. ¥ TQK

2. % SPJ

3. * URL

4. % RSM

Question Number : 4 Question Id : 9767558526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series :

2DW, 6GV, 10JU, , 18PS
Options :



1. ® 14NU
2. ¥ 14MT
3. ¥ 1408
4. % 14NR

Question Number : 4 Question Id : 9767558526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad gaen & qu U I1d &
2DW, 6GYV, 10JU, , 18PS
Options :

1. % 14NU

2. % 14MT

3. % 1408

4. % 14NR

Question Number : 5 Question Id : 9767558527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Pedal : Bicycle :: Pages : ?
Options :

1. ¥ Books

2. # Letters

3. % Sentences

4. % Words

Question Number : 5 Question Id : 9767558527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



39 fahed &7 T8 B o1l IR UG ¥ 34T UHR I Hafeid g for TR o gIR1 UE Ugd Ug 3§ Jafd 81

Usd : Osfbd T : 2
Options :

1. ¢ foard

2. % 3&R

3. % dig

4. % UG

Question Number : 6 Question Id : 9767558528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option pair shares the same relationship between its words as that shared by the words in the below pair?

JSY : LVC ::?
Options :

1. ¥ BHK : EIM
2. ¥ NVE : PYI
3. ¥ MNO : PQR
4. % FPT : HQV

Question Number : 6 Question Id : 9767558528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & 3 {6y faden & Treg g o 981 day g off HaY -Id fau T Weg g & A ¢ |

JSY : LVC :: ?
Options :

1. % BHK : EIM
2. ¥ NVE : PYI
3. ¥ MNO : PQR
4. % FPT : HQV



Question Number : 7 Question Id : 9767558529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

DGM : BIK :: WPN : ?
Options :
1. * TQO
2. % VSM
3. % STK
4. ¥ URL

Question Number : 7 Question Id : 9767558529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [dored &1 999 B S el Ue I I UHR ¥ a&fd § o UHR ¥ gkl UE Ugd U & Hafdd g

DGM : BIK :: WPN : ?
Options :
1. ¥ TQO
2. % VSM
3. % STK
4. ¥ URL

Question Number : 8 Question Id : 9767558530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If SANDY is coded as 8-26-13-23-2, then what 1s the code for TENOR?
Options :

1. ¥ 7-22-13-12-9

2. % 20-5-14-15-18

3. % 8-23-14-13-10



4. % 21-6-15-16-19

Question Number : 8 Question Id : 9767558530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SANDY B 8-26-13-23-2 &% &0 § Sifad foal T 8, A TENOR & ol HTe F1 82
Options :

1. ¥ 7-22-13-12-9

2. % 20-5-14-15-18

3. # 8-23-14-13-10

4. % 21-6-15-16-19

Question Number : 9 Question Id : 9767558531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If BE =7, BAT = 23, then what is the code for BUG?
Options :

1. #® 36

2.9 30

3. % 28

4, % 32

Question Number : 9 Question Id : 9767558531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& BE = 7, BAT =23 §, A BUG & folU TS 182
Options :

1. ® 36

2.9 30

3. % 28

4. % 32



Question Number : 10 Question Id : 9767558532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If meat is lemon, lemon is soap, soap is detergent, detergent is honey, honey is salt, salt is butter, butter is flour, then which among the following
is sweet in taste?

Options :
1. # flour
2. ® butter
3. % honey
4. ¥ gsalt

Question Number : 10 Question Id : 9767558532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

’Cﬁ?ﬂg:ﬁq% I §, TG STHSS &, STHSS UEE 8, TEE 9D §, THS HRIA ¢, AR 311eT g, al Fgfeiad § § i a1 @i
9

# Hiar
Options :
1. % 3HICT
2. % HadA
3. % ¥Vga
4. ¥ JHD

Question Number : 11 Question Id : 9767558533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If SLATE is coded as HOZGYV, then what is the code for HURRY?
Options :

1. ¥ THIIE

2. % TGIIC

3. ¥ SFIIB

4. ¥ SHJID



Question Number : 11 Question Id : 9767558533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& SLATE &I HOZGV & &0 H $IfSd {1 T g, df HURRY & forg ls 1 82
Options :

1. % THIIE

2. % TGJIC

3. ¥ SFIIB

4. % SHJID

Question Number : 12 Question Id : 9767558534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If P $ Q means P is the father of Q; P * Q means P is the brother of Q and P + Q means P is the wife of Q and P ! Q means P is the sister of Q,
then what does A + B § C ! D means?

Options :

1. # A is the husband of D
2. # A is the father of D

3. % A is the mother of D
4. #* A is the brother of D

Question Number : 12 Question Id : 9767558534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gEPsQPTAHAZ P, QBTIUME, P* QBT T RP,QBTHE SR P+ QIBTAHIZP,QPBI U g MR P1QHT3f 8P, QP g8d], A A
+BS$C! DB 3N g2
Options :

|.% A, D®IUAE
2. % A DHIUATE
3. A, DBIAGS

4. % A DBIHS S



Question Number : 13 Question Id : 9767558535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following in a logical sequence:

1. Centimeter
2. Hectometer
3. Millimeter
4. Kilometer
5. Decameter

Options :

1. % 1,4,3,5,2
2.%2.3,1,5,4
3.%4,3,5,2,1
4. 931,52, 4

Question Number : 13 Question Id : 9767558535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRufafad & aifdbe Hr A gafud #3:

Options :

1. % 1,4,3,5,2
2.%2,3,1,5,4
3. % 4,3,5,2, 1
4. 943,1,5,2,4

Question Number : 14 Question Id : 9767558536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Meena, Nikita, Prachi, Raman and Sikha are sitting around a circular table. Raman is sitting to the immediate right of Sikha. Prachi is sitting to
the immediate left of Sikha. If Meena is sitting between Raman and Nikita, who is sitting to the immediate left of Nikita?

Options :

1. # Prachi
2. ¥ Meena
3. # Sikha

4. % Raman

Question Number : 14 Question Id : 9767558536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i, fAfosar, urh, T SiR <fRaT T e A9 & IRY 3R 93 & | 79 X1 & ged aTs 3R o961 § | UTeh a1 & qRd 918 3R 931 g1 afg
1, TH 3IR Rfebel & st 7 931 &, il FifddT & G a18 3R B 93T &2

Options :

1. % gt

2.« |

3. % X

4, % JHA

Question Number : 15 Question Id : 9767558537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two course of actions, I and II. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given course of actions, if any, follows from the given statement.

Statement: The company has been making losses from last 3 years.

Course of Actions:

I : The company should shut down to avoid further losses.

IT : Board of Directors should analyse reasons of losses and make changes accordingly and restructure the entire organisation to revive the
company.

Options :



1. # Only I follows
2. % Only II follows
3. % Both I and II follows
4. ¥ Either I or II follows

Question Number : 15 Question Id : 9767558537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & U Sy a1 T 8, o a1 PR & &l pH 1 3R 11 fRT U § | 3MUsp! 37 Y=l &l I AFAT 8, Wl & I8 JrHId: I1d a3
o gciid 811 3mue g Fufg O R b feu U kars & 0 § A 19 91, 3fe P13 &), A T T Y 1 SITIHRU HRaT 2|
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HRATS B HH:
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1 GG AT dTel|

Options :

1. % Had [ SR Il §

2. % HAd I1 IR0 Bl §

3. % [ 3R 11 G IR0 aRd §
4. 11T 11 IRV I §

Question Number : 16 Question Id : 9767558538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All pumpkins are peas.
Statement 2 : No peas are brinjals.

Conclusion I : Some brinjals are pumpkins.
Conclusion II : Some peas are pumpkins.



Options :

1. % Only conclusion I follows
2. % Only conclusion II follows
3. % Both I and II follow

4. # Neither I nor II follows

Question Number : 16 Question Id : 9767558538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § &) pY= feu U 8, o a1 gl s [ 3R 11 fau U § 1 3imueh! 39 SU=T &) I AT 8, Y 81 T8 ITHIIG: J1d a2 3 e Ui
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Options :

1. % Pad (spY [ STERI BT 8
2. ¢ Had (BN 11 IR0 Hal §
3. % [ 3R 11 G AR R §

4. % F1 3R TE I ST BT §

Question Number : 17 Question Id : 9767558539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statement: Meena's boss scolded her in front of everyone in the meeting.

Conclusion I : Meena's boss does not like her.
Conclusion II : Meena was not very popular among her colleagues.

Options :



1. # Only conclusion I follows
2. % Only conclusion II follows
3. % Both I and II follow

4. ¥ Neither I nor II follows

Question Number : 17 Question Id : 9767558539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & U HU fear T g, e a1 &) FAsh 1 3R 11 feu 7T &1 3iueh! 39 U Y I HFAT 8, Hd 81 I8 Jra=a: I 92 3 fire
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Options :

1. % Had (s [ 3IERU HRT1 §

2. % I DY [1 SRV BT §

3. % [ 3R 1 G SFERUI R §

4. 1R TSI SR HAT§

Question Number : 18 Question Id : 9767558540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following number series:

30,41, 54,69,86, .
Options :

1. % 98

2. % 104

3. % 102

4.+ 105



Question Number : 18 Question Id : 9767558540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeRaa S Jae o R o1
30,41, 54,69,86,

Options :

1. * 98

2. % 104

3. %102
4.4 105

Question Number : 19 Question Id : 9767558541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

8:56::12:7
Options :
1. ¥ 132
2. % 144
3. % 156
4. % 120

Question Number : 19 Question Id : 9767558541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadhed &1 997 B N AR U ¥ 34T IR I Yafdd g fo YR ¥ IR U Ugd Ug ¥ aiferd g

8:56::12:7
Options :
1. ¥ 132
2. % 144




3. % 156
4. % 120

Question Number : 20 Question Id : 9767558542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the following series:

190, 201, 179, 212, ,223
Options :
1. %= 172
2. % 218
3.9 168
4. % 156

Question Number : 20 Question Id : 9767558542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad sraen & qu IRe I1d B

190, 201, 179, 212, ,223
Options :
1. % 172
2. % 218
3.4 168
4. % 156

Mental Ability2

Group Number : 2
Group Id : 976755206
Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General intelligence and reasoning Ability2

Section Id : 976755494
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755593
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9767558543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 124@26 = 30, 98@87 =37, 62@33 = 19, then 86@54 =?
Options :

1. % 32

2.9 28

3. % 46

4. % 54

Question Number : 21 Question Id : 9767558543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

i 124@26 =30, 98@87 =37, 62@33 =19 %, ql 86 @ 54 =?
Options :

1. * 32

2.9 28

3. % 46

4, % 54

Question Number : 22 Question Id : 9767558544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two signs should be interchanged to make the given equation correct?

1008 +21+8 x 19 -26=377
Options :

1. # +and x

2. % +and -

3. % +and x

4. % +and -

Question Number : 22 Question Id : 9767558544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i faU 7T gHihrur 1 Tl S o foE fobe1 ) forgl 1 tRER dg a1 A1fgu?

1008 21 +8 x 19-26 =377
Options :

1. % = 3R x

2. % = 3R -

3,</+3?|T><

4. % 1+ 3R -



Question Number : 23 Question Id : 9767558545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The H.C.F. of two numbers is 29 and the other two factors of their L.C.M. are 12 and 11. What is the larger of the two numbers?
Options :

1. ¥ 348

2. % 319

3. % 121

4. % 667

Question Number : 23 Question Id : 9767558545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& GEaft &1 HedH JHIAd® 29 8 3R 3% TYH JHUGAS &b 39 &1 0 12 3R 118 | & G=sfi § J &9 91 581 82
Options :

1. ¥ 348

2. % 319

3. % 121

4. % 667

Question Number : 24 Question Id : 9767558546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following number series:

17, 30, 56, 94, 147
Options :

1. ® 30

2. % 56

3.¥94

4. ® 147



Question Number : 24 Question Id : 9767558546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad ket gad § 7Teid ug J1d

17, 30, 56, 94, 147
Options :

1. % 30

2. % 56

3.994

4. % 147

Question Number : 25 Question Id : 9767558547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between council, minister, chief minster?
Options :



2.¥

D6©

4. %

Question Number : 25 Question Id : 9767558547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad 3 oMl & @ 19 I uRkve, T, gor 15t & dih & Tae o) Jad 33T i 82

Options :






Question Number : 26 Question Id : 9767558548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of people in a colony who have travelled to Australia, England and United States of America. There
are 100 people in the colony. How many of these people have been to only two countries?

United States

Australi
ke Of America

(2

England

Options :
1. ¥ 44
2. % 52
3. % 29
4. % 32



Question Number : 26 Question Id : 9767558548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT 7T 37 SR B U DI & QN 1 T S T8 &, Rrel Efern, S1aus 3R Wad Iy SERIHGT Bt AT H1 | | HidH & 100
TANTIEd § | 379 ¥ fpa= @Ml A had & o= 8 A1 &1 g7

Options :
1.¥ 44
2. % 52
3. %29
4, % 32

Question Number : 27 Question Id : 9767558549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents women, rectangle represents Indian, circle represents married. Which area represents women who are
Indian but are not married?



A
F
B
D
E
Options :
1. %G
2. % B
3.% C
4. ¥ F

Question Number : 27 Question Id : 9767558549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafeaa srefa &, By afgarsii &1 ufaffia w1 8, Smad YR &1 faffia w1 €, g faarfed &1 ufafAfia sxar g1 s
&= 3 wfgansil o1 ufafifia Bl & S YR § Ao faarfed T8 &2



Options :
1. % G
2. % B
3. % C
4. ¥ F

Question Number : 28 Question Id : 9767558550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between politicians, lawyers and females?
Options :

1. ¥



Question Number : 28 Question Id : 9767558550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & T o9 97 39 3IRG Ioar3l, Ipbial 3R Afgdrsh & g & oY bl Ja 33T SdT 52

Options :




&
PO



Question Number : 29 Question Id : 9767558551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kashish is standing 80 m away the south-west direction of Lalit. If Manisha is standing 80 m away the south-east direction of Lalit, then Manisha
is in which direction of Kashish?

Options :
1. ¥ East
2. % West
3. % North
4. ¥ South

Question Number : 29 Question Id : 9767558551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI dferd & faor-ufEe fa=n & 80 m g @1 ¢ 1 TG HHIST ferd o Saru-gd fa=m & 80 m g @e! &, o HHT SR bt fob ferzm g2
Options :

.Y 7qd

2. % UigH

3. % 3

4. % THEor

Question Number : 30 Question Id : 9767558552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shubham drives 25 km towards North and then he turns left and drives 45 km. Then, he turns left and drives 25 km. Then, he drives 25 km after
turning to the left. Where he is now with respect to his starting position?

Options :

1. # 20 km east
2. # 15 km east
3. % 15 km west



4. % 20 km west

Question Number : 30 Question Id : 9767558552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IHH IR BI 3R 25 km S13d HRT & 3R R T8 913 3R TSdT § 3R 45 km S13d Ha ¢ | {hR, I8 T18 3R YT § 3R 25 km T
R e| fhR, 98 918 3R g3 & 1< 25 km S13d BT 5 | 30 YRS Y & Ty H 319 98 Fal g2

Options :

1. % 20 km Jd

2. % 15kmJd

3. % 15 km UfgH

4. ¥ 20 km UfgH

Question Number : 31 Question Id : 9767558553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anand started from his school towards west. After walking 50 m, he turned to the right and walked 20 m. Then, he turned to the right and walked
30 m. Then, he turned right at 135 degrees and has walked 60 m. In which direction Anand is going?

Options :

1. # South-East
2. ¥ South-West
3. #* North-East
4. * North-West

Question Number : 31 Question Id : 9767558553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{Te 3 faemed I ufdy @) iR Ia @ 50 m Ie- & o016, 98 aT8 3R ST 3R 20 m IaT| fh, 98 a2 3R YST 3R 30 m Tl | fR,
ag 135 TSN W % SR g8 M1 8iR 60 m I Tl | 3fc fbw fe=m & %_f’

Options :

1. % gfaorgd
2.« TIEULUiEY




3. % IW-qd
4, % ITR-UGH

Question Number : 32 Question Id : 9767558554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amrish runs 150 metres towards East and turns to right and runs 100 metres. Then, he turns to right and runs 90 metres, and again turns to left to
run 50 metres. Then, he takes a left turn and runs 120 metres and then turns to left and runs 60 metres. What direction is Amrish facing now?

Options :
1. # East
2. % West
3. ¥ North
4. # South

Question Number : 32 Question Id : 9767558554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R gd BT 3R 150 m ST B 3R 3T 3R FSaT R 3R 100 m Q1 81 6, 95 7€ 3R TSl 8 3R 90 m ST &, 3R 50 m Sl &
%@gmﬁﬁ?w%ﬂ%lﬁ?{,agaﬁaﬁvﬂsm%sﬁ?120masm%aﬁ?ﬁwaﬁ3ﬁvﬂsm%sﬁ?6omasm%laﬁmwﬁgaﬁ
Options :

1. % gd

2. % Uigy

3. ¥ 3

4. % gfgon

Question Number : 33 Question Id : 9767558555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figures completes the series of the question figure?



1. #®

2.¥

3. %




-+ -

Question Number : 33 Question Id : 9767558555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Froffad 7 3 P 0 SR 3Pl Uy 3fa B 4R BT T el 82

+ - |- X[ X O
0 x|+ of - £5
Options :

O +
1. ® A -




3. %

-+ -

Question Number : 34 Question Id : 9767558556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third image on the same basis as the second image is related to the first image.



P




QO

Question Number : 34 Question Id : 9767558556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [qored 1 99 B S ] Bid ¥ 3 TR I afdd § for TR 9 gusl 3fd g afd 3 Jefia g1

FANE | Lo E

Options :




2.¥

4. %

Question Number : 35 Question Id : 9767558557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following options is the wrong figure in the series?



7y (B) (C) D)
Options :
1. % A
2. % B
3. % C
4. ¥ D

Question Number : 35 Question Id : 9767558557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaiead & @ &1 91 fadwed yaar # Tad i g2

(A) (B) (C} (D)
Options :
1. % A
2. % B
3. % C
4. ¥ D

Question Number : 36 Question Id : 9767558558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing figure in the following matrix.



18 26 34

24 ? 48

Options :
1. ¥ 36
2. % 28
3. % 39
4. % 24

Question Number : 36 Question Id : 9767558558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafafed Aftey o qu siwsT I1d B

18 26 34
9 13 17
24 ? 43
Options :
1.¥ 36

2. % 28



3. % 39
4. % 24

Question Number : 37 Question Id : 9767558559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following cubes in the answer figure can be made based on the unfolded cube in the question figure?

6

Options :




2. ¥
5
3. %
2
1
6
4, %

Question Number : 37 Question Id : 9767558559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR MBI & [ T DI Uy 31pfd T S fom 1 AreT gon o= far mar § Sl SR R S 7 9ol 87




1
3
4 | 2
5
6
Options :

S




Question Number : 38 Question Id : 9767558560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure patterns can be combined to complete the question figure?

Options :

1. ¢




4. %

Question Number : 38 Question Id : 9767558560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed # § o9 T S Mwfa Ted &1 Uy sMwfd &1 IR 64 & e ST o T 82




Options :

Question Number : 39 Question Id : 9767558561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.



P
/N 7]




Question Number : 39 Question Id : 9767558561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 7TE TR BV, I 3BT &1 7 H R vy i fediafafga g1

L

Options :

X
A




Question Number : 40 Question Id : 9767558562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figures is the water image of the question figure?




Question Number : 40 Question Id : 9767558562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 o O SR SHid Uy eepfd &1 oa ufafdd g2




3. %
4. %

General Awarenessl1
Group Number : 3
Group Id : 976755207
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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General Awarenessl

Section Id : 976755495
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755594
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9767558563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Mewar festival is celebrated to mark the arrival of the season.
Options :

1. # autumn

2. ¥ summer

3. ¥ spring

4. % winter

Question Number : 41 Question Id : 9767558563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A4S TER B B & A B! fafgd B & fore Hman S 8|
Options :

1. ® Uddls

2. % e

3. gdd



4. % i

Question Number : 42 Question Id : 9767558564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is a folk singing style involving narration of tales from the ancient Indian epic Mahabharata?
Options :

1. % Baul

2. % Pandavani

3. ¥ Wanawan

4. % Alha

Question Number : 42 Question Id : 9767558564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad § 3 o 9 U i T [l 7 s ureie YRR HeTeTed HeTHRd Bt Beii-al o1 qule e 8
Options :

1. % d13d

2.« GSamt

3. % g-dMH

4. % 3legl

Question Number : 43 Question Id : 9767558565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Gambhira dance form is associated with which of the following states?
Options :

1. * Tamil Nadu

2. % Kerala

3. ¥ Madhya Pradesh

4. ¥ West Bengal



Question Number : 43 Question Id : 9767558565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 93U fFgfafea 7 2 fea T A 98132
Options :

1. % e g

2. % d

3. % QLYY

4. ¥ UIEH SIS

Question Number : 44 Question Id : 9767558566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Golghar monument built by British Government is located in which of the following states?
Options :

1. ¥ Bihar

2. % Mabharashtra

3. % Gujarat

4. % Karnataka

Question Number : 44 Question Id : 9767558566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafew weR gr1 fAftfa Mo wRe Fefafea i A fra T fRa g
Options :

1. ¢ fogR

2. % HeRMY

3. % ToRId

4. % PACH



Question Number : 45 Question Id : 9767558567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following taxes is levied either by the state or central governments on roads and bridges?
Options :

1. # Sales Tax

2. # Service Tax

3. % Toll Tax

4. % Value Added Tax

Question Number : 45 Question Id : 9767558567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT & O &1 1 & I59 T1 g WMBHR gRI TSH| R Gl TR AT ST 82
Options :

1. % fddl B
2. % YAT IR
3. ¢ AR
4. % T aifd

Question Number : 46 Question Id : 9767558568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a sustained decrease in the general price level in an economy.

Options :

1. ¥ Deflation
2. ¥ Disinflation
3. # Inflation

4. ® Hyperinflation

Question Number : 46 Question Id : 9767558568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T R § i e R H FARaR S g |

Options :

1. ¢ 3aEDIfd
2. % faumifd
3. % gEmIfd
4. % Jfaepifd

Question Number : 47 Question Id : 9767558569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following banks was the first bank to introduce saving account in India?
Options :

1. ¥ Canara Bank

2. ¥ Presidency Bank

3. % Bank of India

4. # State Bank of India

Question Number : 47 Question Id : 9767558569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & 1 d YR § g9d a1 RE B aTal Ugdl 8 1?2
Options :

1. % BRI db

2. ¢ TS o

3. ® d% 3P fgan

4. % YR We db

Question Number : 48 Question Id : 9767558570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



As announced by India's Finance minister Nirmala Sitharaman in the Budget 2021, Textile Parks will be established over 3 years under
the scheme of MITRA.

Options :
1. %5
2.% 2
3.% 10
4.9 7

Question Number : 48 Question Id : 9767558570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@gﬁ%wzomﬁwaﬁﬁaﬁﬁﬁw@mﬁ@wﬁ% I U MITRA &1 AIoHT o dgd 3 a8 § RATUd fohd
I

Options :

1. %5

2. %2

3.% 10

4.7

Question Number : 49 Question Id : 9767558571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a characteristic of Monopsony?
Options :

1. # Single seller and many buyers

2. # Many sellers and many buyers

3. ¥ Many sellers and single buyer

4. * Single seller and single buyer

Question Number : 49 Question Id : 9767558571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafRed o 9 & I ohdl THITUBR B! A=V 82
Options :

1. % Thd fahdr 3R s TWIER

2. % B3 fAchdl 3R Ps WIER

3. ¢ &% [Aohdl 3R Thd WIGR

4. % Thd fachdl 3R Thd WITR

Question Number : 50 Question Id : 9767558572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The energy that an object possesses because of its motion, is known as energy.
Options :

1. % electrical

2. % chemical

3. ¢ Kkinetic

4. # potential

Question Number : 50 Question Id : 9767558572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 SHoll ol fhdl axg 1 TTfd & HRUI T8 YRV il §, 39 351t & A Y ST STl g |

Options :

1. % faggd

2. % IS
3. ¢ Tifcrt

4. % TRyfcer

Question Number : 51 Question Id : 9767558573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The neutral value of pH scale is



Options :
1. %6
2.¥7
3.% 8
4. % 10

Question Number : 51 Question Id : 9767558573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
pH bl T e’y A gl
Options :

1. % 6

2.9 7

3. % 8

4. % 10

Question Number : 52 Question Id : 9767558574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aurelia is an example of which of the following phyla?
Options :

1. ¥ Cnidaria

2. % Ctenophora

3. # Platyhelminthes

4. % Aschelminthes

Question Number : 52 Question Id : 9767558574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sfiferan Fafofed & @ ford 9 &1 3aTerul 82
Options :

1. ¢ eI



Question Number : 53 Question Id : 9767558575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Kyoto Protocol adopted?
Options :

1. # 1976

2. % 1989

3. % 1982

4, ¥ 1997

Question Number : 53 Question Id : 9767558575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HICI YICTehIel el YT T UI?
Options :

1. % 1976

2. % 1989

3. % 1982

4.+ 1997

Question Number : 54 Question Id : 9767558576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Strait of Malacca joins the Indian Ocean and the Ocean.
Options :

1. # Southern

2. % Arctic



3. ¥ Pacific
4. % Atlantic

Question Number : 54 Question Id : 9767558576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Holadh] Side AT g AgTTR iR HEMNR &l Sigdl g
Options :

1. % clgurgdig

2. % ITRYAM

3. ¢ TR

4. % 3fcdiicd

Question Number : 55 Question Id : 9767558577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kadra Dam of Karnataka is built across which of the following rivers?
Options :

1. ¥ Krishna

2. ¥ Kali

3. % Kaveri

4. % Periyar

Question Number : 55 Question Id : 9767558577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Piced Pl b a1y FafaRad 7 J ford el R -/ a1 82
Options :

1. % WU

2. ¢ BTl

3. % PHIal




4. % UfEOR

Question Number : 56 Question Id : 9767558578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following mountain ranges is the longest continental mountain range in the world?
Options :

1. ¥ Andes

2. # Rockies

3. % Himalayas

4. ¥ Western Ghats

Question Number : 56 Question Id : 9767558578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 &1 O gdaqara fay &1 999 dell AeTedd udd §%&dr 82
Options :

1L v TS

2. % el

3. % fgHTey

4. % GigH gIe

Question Number : 57 Question Id : 9767558579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indravati river is a tributary of which of the following rivers?
Options :

1. # Ravi

2. % Krishna

3. % Chenab

4. ¥ Godavari



Question Number : 57 Question Id : 9767558579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sarad! 74! Fafafed & 9 feg 79d 31 Iudt 82
Options :

1. % 3fd

2. % U

3. % g1d

4. ¢ e

Question Number : 58 Question Id : 9767558580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following soils is formed due to leaching by heavy rains and destruction of humus by bacteria?
Options :

1. # Arid

2. ¥ Laterite

3. % Alluvial

4. % Black

Question Number : 58 Question Id : 9767558580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed & 3 o1 T g1 Ut auf gR1 Feme 3R Sfiaro] gRT 4R & A1=1 & BRI §d 82
Options :

1. % Y[Ch

2. ¥ AR

3. % Tdlg

4. % DAl




Question Number : 59 Question Id : 9767558581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following wrote "Akbar-Nama"?
Options :

1. # Chand Bardai

2. ¥ Abul Fazl

3. # Gulbadan Begum

4. % Amir Khusro

Question Number : 59 Question Id : 9767558581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoiad 7 9 foam »sreme- A fomar U
Options :

1. % dqaRars

2. % 3{dd Boldd

3. % TS o

4. % R GWI

Question Number : 60 Question Id : 9767558582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Mughal Emperors built Ibadat Khana at Fatehpur Sikri?
Options :

1. ¥ Akbar

2. % Babur

3. ¥ Humayun

4. % Jahangir

Question Number : 60 Question Id : 9767558582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fraferRad gord gorel # 9 {69 A Bag QR Wbl & gaied T §d™T 41?2

Options :

1. ¢ 3PaR
2. % dlsR
3. % gAY
4. % SEAIR
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9767558583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the President of the Banaras session of the Indian National Congress in 1905?
Options :

1. # Surendranath Banerjee

2. % Dadabhai Naoroji

3. # Bal Gangadhar Tilak

4. ¥ Gopal Krishna Gokhale

Question Number : 61 Question Id : 9767558583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad 7 3 S 1905 H YR AP SR & SHRY SAYAR & el U2
Options :

1. % GIGAY Sl

2. % TIGTHTS RIS

3. ® o1 TMeR foefep

4.« TUTA ST TG

Question Number : 62 Question Id : 9767558584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Akbar issued the “Degree of Infallibility ” in
Options :

1. # 1596

2. % 1612

3.9 1579

4, % 1552



Question Number : 62 Question Id : 9767558584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3paR A T "3gehal ol fSUT SIRI Bt |
Options :

1. #® 1596

2. % 1612

3.9 1579

4, % 1552

Question Number : 63 Question Id : 9767558585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is also known as "Old Stone Age"?
Options :

1. # Chalcolithic Age

2. # Neolithic Age

3. % Mesolithic Age

4. ¥ Paleolithic Age

Question Number : 63 Question Id : 9767558585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad 7 3 f5d o= areTor Bra & &9 7 o ST o 82
Options :

1. % Y YN0 hTcd

2. % AFqUIYIUT hTcl

3. % HYUTYIUT bIct

4. % RIUIYIUT bt

Question Number : 64 Question Id : 9767558586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who among the following Mughal Emperors abolished Jizya Tax?
Options :

1. % Babur

2. ¥ Akbar

3. # Jahangir

4. # Shah Jahan

Question Number : 64 Question Id : 9767558586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad Qe wuret ® 9 fog A Siforan o & gaTe R feam
Options :

1. % dleR

2. ¥ 3PN

3. % GBI

4. % T8 IR

Question Number : 65 Question Id : 9767558587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Geetika Jakhar won the Arjuna Award in 2006 for
Options :

1. % swimming
2. ¥ wrestling
3. * tennis

4. % football

Question Number : 65 Question Id : 9767558587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TfifdeT Sras A 2006 # & ToTT 3o B R SiidT|
Options :

1. ® ORI

2. ¥ Dl

3. % iy

4. % g

Question Number : 66 Question Id : 9767558588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the Chief Minister of Uttarakhand as of March 20217?
Options :

1. % Naveen Patnaik

2. * Yogi Aditya Nath

3. ¢ Tirath Singh Rawat

4. % Biplab Kumar Deb

Question Number : 66 Question Id : 9767558588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATE 2021 I6 IUAS THBR! & AR FHffad & 9 HH SRS & TereHl 82
Options :

1. % 4 Ucs

2. % gt ST ATy

3. ¢ dRY g Irad

4. % 9@ R 9

Question Number : 67 Question Id : 9767558589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dreams from My Father: A Story of Race and Inheritance' is the autobiography of which of the following famous personalities?



Options :

1. ¥ Barack Obama

2. # Charles Darwin

3. ¥ Benjamin Franklin

4. % Annie Besant

Question Number : 67 Question Id : 9767558589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T A1 Blex: TR 31 ¥4 U8 SeRew Mufeiad uRig siadl & ¥ fod &1 sraAwhuT 82

Options :

1. ¢ SRD AETHT
2. % e ST

3. ® Sonfee hapfem
4. % TN U<

Question Number : 68 Question Id : 9767558590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the Minister of Corporate Affairs in India as of March 2021?
Options :

1. # Ram Vilas Paswan

2. % Nirmala Sitharaman

3. # Rajnath Singh

4. % Ravi Shankar Prasad

Question Number : 68 Question Id : 9767558590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT 2021 TP SUAH THABRT & SHTIR FHfARad & 9 & YRd H HIARe SR HA1aa & 741 82

Options :



1. % MO grgdH
2. ¢ fdar daRmA
3. % Yoy g

4. % 3fd Ydpr YT

Question Number : 69 Question Id : 9767558591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Inheritance of Loss' is written by which of the following authors?
Options :

1. # Arundhati Roy

2. % Amitav Ghosh

3. # Jhumpa Lahiri

4. ¢ Kiran Desai

Question Number : 69 Question Id : 9767558591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 3TeREY St arg Fafifed # 9 fod aas gr1 fordl 718 2
Options :

1. % 3rpYfd I

2. % A Uy

3. % T ISl

4. foRUT ¢S

Question Number : 70 Question Id : 9767558592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sudarshan Sahoo from Odisha, received the Padma Vibhushan in 2021 for his contribution in the field of
Options :

1. % Medicine



2.9 Art
3. % Archaeology
4. % Public Affairs

Question Number : 70 Question Id : 9767558592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS & geriF g &t & &3 U 3T ANTGM o fore UaT faywor 2021 T U g

Options :

1. % 3Mgfaq™
2.« &l

3. % RIAE
4. % AH-H

Question Number : 71 Question Id : 9767558593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concept of 'Procedure for Amendment of the Constitution' in the Indian Constitution has been borrowed from the constitution of which of the
following countries?

Options :

1. # Japan

2. # Australia

3. % South Africa

4. ® United States of America

Question Number : 71 Question Id : 9767558593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TG & Hau & SR B Ufhar ST SauRon HafaRad § 3 fod <=1 % a9 IUR o 715 82
Options :

1. % SIUTH

2. % 3fiecfer

~



3. ¥ CI&(UT 3TpIahT
4. % Yo I AR

Question Number : 72 Question Id : 9767558594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Schedules in the Indian Constitution deals with the validation of certain acts and regulations?
Options :

1. % Eighth

2. % Ninth

3. # Tenth

4. % Seventh

Question Number : 72 Question Id : 9767558594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Ty 7 Fafifaa syt 8 Q4 o @ oo ififgdl ok faf ot & Jare= 3 Wefia 82
Options :

1. % 3Madf

2. ¢ dt

3. % gqdl

Y IGE]

Question Number : 73 Question Id : 9767558595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Constitutional Amendments led to the formation of the state of Nagaland?
Options :

1. ¥ 13th

2. % 8th

3. % 15th



4. % 17th

Question Number : 73 Question Id : 9767558595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 frg JauTfe Tnea o1 goig I ARTAUS T &1 716 32
Options :

1. ¢ 139

2. % gdf

3. % 159

4. % 174}

Question Number : 74 Question Id : 9767558596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 83rd Constitutional Amendment exempted from reservation for Scheduled Castes in Panchayati Raj institutions.
Options :

1. # Tamil Nadu

2. ¥ Arunachal Pradesh

3. # Madhya Pradesh

4. # Andhra Pradesh

Question Number : 74 Question Id : 9767558596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

839 Ty TN =t 3ot Switett § srgfd shfadt & forg smremr g DI gedll
Options :

1. % diHe g

2. ¥ SBUTES YR

3. % O eI

4. % 3RS




Question Number : 75 Question Id : 9767558597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following languages was added in the Eighth Schedule by 92nd Constitutional Amendment?
Options :

1. ¥ Konkani

2. % Manipuri

3. % Sindhi

4. ¥ Bodo

Question Number : 75 Question Id : 9767558597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol & 3 forg yToT Y 923 Haenos TRNeH R TS S | SIS T UT?
Options :

1. % Dipull

2. % Mg

3. % e

4. 9IS

Question Number : 76 Question Id : 9767558598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following cricket stadiums is not located in New Zealand?
Options :

1. # Hagley Oval

2. % Warren Park

3. % Saxton Oval

4. # Seddon Park

Question Number : 76 Question Id : 9767558598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ &1 9 fhde R feaw uiiavs & fyd 78t 82
Options :

1. % gl 3gd

2. ¢ IRA UTh

3. % Jggc fiad

4. % S UTH

Question Number : 77 Question Id : 9767558599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following become the first Indian woman cricketer to score 10,000 international runs across all formats in March 2021?
Options :

1. # Sushma Verma

2. % Harmanpreet Kaur

3. ¥ Mithali Raj

4. % Smriti Mandhana

Question Number : 77 Question Id : 9767558599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed # 9 o1 A 2021 H 4 URedl 7 10,000 SRS 39 S aTell Ugelt YRR Afga fosdreR sl
Options :

1. % oHT gl

2. % HAUT DR

3. ¢ et I

4. % i GY™T

Question Number : 78 Question Id : 9767558600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the first Indian to win the All England Badminton Championship?
Options :

1. # Saina Nehwal

2. # Srikanth Kidambi

3. % Pusarla Venkata Sindhu

4. ¥ Prakash Padukone

Question Number : 78 Question Id : 9767558600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad 3 J DIF offd i dsftie MR S ard ugd YR &2
Options :

1. % Qrs=1 g

2. % sfipid forgwl

3. % QYdl dbe Ny

4. ¢ UHTR UIGHIU

Question Number : 79 Question Id : 9767558601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following teams has won the Indian Premier League (IPL) most number of times as of February 20217
Options :

1. % Chennai Super Kings

2. % Mumbai Indians

3. # Kolkata Knight Riders

4. ¥ Rajasthan Royals

Question Number : 79 Question Id : 9767558601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa A 8 @ feaa wrast 2021 96 Sfea iR < (pL) & 9e9 3ifde R Sfidarg?



Options :

1. % I3 g [

2. ¢ Hus sfedy

3. % PHIABII A8 AZ8YH

4. % JORIM AT

Question Number : 80 Question Id : 9767558602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the first Indian recipient of the Wisden Leading Cricketer in the World?
Options :

1. # Anil Kumble

2. # Sachin Tendulkar

3. ¥ Virender Sehwag

4. ¥ Rahul Dravid

Question Number : 80 Question Id : 9767558602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofaRad o 9 o fay T fass= difeé fharer & ugd U ureddsat 42
Options :

1. % 3fd paal

2. ® Gy dgamx

3. ¥ AR HeaNT

4. % A SIS

Arithmetic Abilityl

Group Number : 5
Group Id : 976755209

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

Arithmetical and Numerical abilityl

Section Id : 976755497
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755596
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9767558603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the fractional form of 0.4?
Options :

1. ¥ 2/5

2. % 4/5

3. % 1/5

4. % 2/10

Question Number : 81 Question Id : 9767558603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
0.4 BT ¥ =Y R 82

Options :

1. ¥ 2/5

2. % 4/5

3. % 1/5

4. = 2/10

Question Number : 82 Question Id : 9767558604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(7/5)%30 + x = 46. What is the value of x?
Options :

1. #®5

2.¥ 4

3. % 12

4. % 6

Question Number : 82 Question Id : 9767558604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(7/5)%30 + x = 46 & | x BT HM T g2
Options :

1. %5

2.¥ 4

3. % 12

4. % 6

Question Number : 83 Question Id : 9767558605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the least 4-digit number that is exactly divisible by 3, 7 and 10?



Options :
1. # 2800
2. % 2100
3.9 1050
4. % 1200

Question Number : 83 Question Id : 9767558605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAdH 4-3fH 1T T T g Sl 3, 7 3R 10 ¥ e d favursa g2
Options :

1. % 2800

2. % 2100

3. %1050

4. % 1200

Question Number : 84 Question Id : 9767558606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are two numbers in the ratio 4 : 9. If the LCM of the two numbers is 180, what is the sum of the two numbers?
Options :

1. * 45

2. % 60

3. % 55

4. ¥ 65

Question Number : 84 Question Id : 9767558606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
49 % T H &1 TS & | A Y TReAnaft &1 Ay THIIab 180 8, al ol TRt BT I T 82
Options :




1. * 45
2. % 60
3. % 55
4.9 65

Question Number : 85 Question Id : 9767558607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the least number that must be added to 2540 so that the sum is divisible exactly by 10, 12, 16 and 18?
Options :

1. % 120

2.9 340

3. % 720

4. = 360

Question Number : 85 Question Id : 9767558607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAqH G- &1 B fSRY 2540 T SIST ST A1fR T atfes AT 10, 12, 16 3R 18 T foepa faursa g
Options :

1. % 120

2.9 340

3. % 720

4. * 360

Question Number : 86 Question Id : 9767558608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B work in a company where A gets a day off after every 6 days and B gets a day off after every 5 days. If they both get a day off on a
particular day together, then after how many days will they both have a day off on the same day?

Options :
1. % 24



2. % 18
3. % 60
4. % 30

Question Number : 86 Question Id : 9767558608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R BTH ST A HH IA ¢ o6l A DI AP 6 el & I1e TH e 1 Fg! ! g 3R B B YD 5 &1 & 91 Uab fad &1 gl fHert
21 afe 3 ) T ARy o R e A1y U o &1 ggt i €, Y fova fa=i & a1 1 o 9rd & uh &1 o gt firane

Options :

1. % 24

2. % 18

3. % 60

4. ¥ 30

Question Number : 87 Question Id : 9767558609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class of nine students, the average weight of five boys is 45 kg and of four girls is 36 kg. What is the average weight of the entire class?
Options :

1. ® 42.6 kg

2. % 43 kg

3.9 41 kg

4. % 42 kg

Question Number : 87 Question Id : 9767558609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B Bt TS FHef H, U TS BT 3d Toi 45 kg 3R TR TSB! BT T IO 36 ke & | T HeMT BT 39d doi fbaT 82
Options :

1. ® 42.6 kg

2. % 43 kg



3.¥ 41 kg
4.% 4 kg

Question Number : 88 Question Id : 9767558610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average temperature of Hyderabad for the months of June and July is 36°C. If in the month of August, the average temperature is 40°C, then
what will be the average temperature (in °C) of the three months taken together?

Options :
1. = 36
2.9 37.33
3. % 38
4. % 35

Question Number : 88 Question Id : 9767558610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o 3R TS & TeHI & T8 §eRTaTE 1 iNId dIIHH 36°C §1 afe SFTRd & HeH o S dTom 40°C &, ot - AeHl & fore ues |y
foTq 74 ATOH (°C) &1 S T g2

Options :

1. % 36

2.9 37.33

3. % 38

4. % 35

Question Number : 89 Question Id : 9767558611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A trader made a profit of 30 percent on selling his wares at a certain price. What would be his profit percentage if he had sold at 10 percent
discount?

Options :
1. ¥ 17 percent



2. % 16 percent
3. % 18 percent
4. % 15 percent

Question Number : 89 Question Id : 9767558611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
wwﬁwﬁ%ﬁnﬂwmaﬁﬁéﬁuwommwu&ﬁamltr%amocrf%mazg—dmaqdﬁhwqﬂwum
T ?

Options :

1. ¢ 17 fd=rd

2. % 16 Yfd=Id

3. % 18 yfcRrd

4. % 15 yfaerd

Question Number : 90 Question Id : 9767558612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Neal cut a cake into five equal pieces and gave two pieces away. What percent of the cake remains with him?
Options :

1. % 40 percent

2. % 60 percent

3. % 45 percent

4. ® 65 percent

Question Number : 90 Question Id : 9767558612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A TF D P! Uld RIS gh ol 8 Plel R & Ths ¢ faU| b BT a1 Uia=rd TR IHb U AW Il 82
Options :

1. % 40 gfa=rd




2. v 60 UfaId
3. % 45 gfa=d
4. % 65 Yfaerd

Question Number : 91 Question Id : 9767558613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The distance from city A to B is 120 km. Rina started from A to reach B at the speed of 45 kmph. What percent of the journey will she complete
in 20 minutes?

Options :
1. % 20
2. % 18
3. 125
4. % 25

Question Number : 91 Question Id : 9767558613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%A@[BWﬁ@ 120 km | 919 B T Ugd- & TW 45 kmph &1 TTfA R A T & fha1| 20 e & a8 amn &1 foran ufasa @
?

Options :
1. = 20
2. % 18
3.¥125
4. % 25

Question Number : 92 Question Id : 9767558614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fresh prunes contain 30 percent water and dried prunes contain 5 percent water. How much dried prunes can be obtained from 5 kg of fresh
prunes approximately?

Options :



1. ®* 416 kg
2. % 35kg
3. % 384 kg
4.9 3.68 kg

Question Number : 92 Question Id : 9767558614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSl STAGERT H 30 Ta=Td Ut 81T § 3R Y SMIGERT | 5 U= Uit 81T 8 | TIHT 5 kg ol SHTGERT I fha- T SMIGERT U
fomT T wehd g

Options :

1. % 416kg

2. % 35kg

3. % 3.84kg

4. ¥ 3.68kg

Question Number : 93 Question Id : 9767558615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Samir sold his watch which he purchased for Rs. 5000 at Rs. 4500. What is his loss?
Options :

1. ¥ Rs. 50

2. % Rs. 500

3. % Rs. 1000

4. % Rs. 1200

Question Number : 93 Question Id : 9767558615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR 3 3T TSt 4500 TUT H 9=, TR I 5000 STT H TSI UT| ITHT 511 T 82

Options :
1. % 50%UU




2. % 500 ¥UUd
3. % 1000 %Uq
4. % 1200 %UU

Question Number : 94 Question Id : 9767558616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ananya sold her bike at 5 percent loss at Rs 4750. What was the cost price of the bike?
Options :

1. % Rs. 4000

2. % Rs. 5500

3. % Rs. 4500

4. % Rs. 5000

Question Number : 94 Question Id : 9767558616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 3O 1S 5 UTA=Id &1 8T WR 4750 ¥UT H o | AP BT AT Jod HT YT?
Options :

1. % 4000 ®UU

2. % 5500 U

3. % 4500 >4

4. % 5000 U7

Question Number : 95 Question Id : 9767558617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An item was to be sold at twice its cost price. But the shopkeeper offered a certain discount and still made a profit of 50 percent. What was the
percentage of discount that was offered?

Options :
1. # 20 percent
2. # 75 percent



3. % 25 percent
4. % 50 percent

Question Number : 95 Question Id : 9767558617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I P! ITD! AT Hed I ST Hed WR 991 ST 7| fde] ghHeR A T [fd ge &t iR fi ot 50 ufara &1 ary sifsia fasan
BC DI UlRId fobam Um

Options :

1. % 20 gfa=rd
2. % 75 gfard
3. ¢ 25 Ufaid
4. % 50 gfaerd

Question Number : 96 Question Id : 9767558618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mayank mixed two types of rice of prices Rs. 5 per kg and Rs. 6 per kg in the ratio 3 : 5 and sold the mixture at Rs. 6.75 per kg. What is the
percentage of profit?

Options :
1. % 12
2.9 20
3. % 22
4. % 225

Question Number : 96 Question Id : 9767558618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T4 A 5 ¥UY Ufd ke 3R 6 $UU U kg & Yol & & YHR & A19a &1 3 : 5 &b Ja1d A MHfsd forar oiR 6.75 30 Ul kg TR fsor &t
ST ATY T Hi=Td o1 52

Options :

1. % 12



2.9 20
3. % 22
4. % 225

Question Number : 97 Question Id : 9767558619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is 50 percent faster than B. What is the ratio of speed of B and A?
Options :

1.9 2:
2. % 1:
3. % 3
4. % 2.

[V, I \© IR US B U]

Question Number : 97 Question Id : 9767558619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, BHI A H 50 TA=Id 3ifere doi g1 B 3R A B 71fd BT SUTd T 82
Options :

1.9 2:
2. % 1:
3. % 3
4. % 2.

(U, I \O TR VS B U]

Question Number : 98 Question Id : 9767558620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Liquids A and B are mixed in the ratio 1 : 2 to form a mixture. If 2 litres of liquid A and 3 litres of B are added to the mixture the ratio changes to
6 : 11. What was the initial quantity of liquid A in litres?

Options :
1. % 8
2.% 6



3. %3
4.9 4

Question Number : 98 Question Id : 9767558620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R80T S & AW Ga A SR B &1 1: 2 & 3uTd & fifSra foma man B 1 afe firsior & @ A &7 2 Tfer IR B &1 3 ©iex SIST AT € af 3iurd
6: 11 F Sad ol g | THex & 5d A Pt YRS T 37 2

Options :

1. %8

2. % 6

3.%3

4.9 4

Question Number : 99 Question Id : 9767558621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Samina decided to make pancakes on a Sunday and for that she needed egg, flour and pure milk in the ratio 1 : 4 : 2. She can make 10 pancakes
from 500 grams of the batter. How much of flour will be required to make 50 pancakes approximately?

Options :
1. ¥ 1.43 kg
2. % 1.6kg
3. % 2kg
4. % 4 kg

Question Number : 99 Question Id : 9767558621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT A FAIR B U g T (07 faar 3R 9% [ S 1 : 4 : 2. F SFUTd | 3fST, 3M7eT 3R Y& g8 P o 2| 98 500 TMH &
IR Y 10 YA ST Thd! & | THT 50 T 991 & fore fopam 31e ot Sraaasar gift?

Options :

1. ¥ 1.43 kg




2. % 1.6 kg
3. % 2kg
4. % 4kg

Question Number : 100 Question Id : 9767558622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nilesh invested Rs. 5000 at 5 percent simple interest and Rs. 4500 at 8 percent simple interest per annum. What was the total interest earned by
him at the end of two years?

Options :

1. % Rs. 1450
2. % Rs.1500
3. ¥ Rs. 1220
4. % Rs. 1250

Question Number : 100 Question Id : 9767558622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fraw 3 5 ufa=rd FUR ST WR 5000 FUT 3R fHT SR ufa avf ¢ ufawrd Gremur s R 4500 SUT A fHUl S 9y & 3id H I9d
GRT 3ifoid Hd STeT T UT?

Options :

1. % 1450 ¥UT

2. % 1500 ¥UT

3.4 1220 94U

4. % 1250 ¥UT
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Group Id : 976755210
Group Maximum Duration : 0
Group Minimum Duration : 0
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Sub-Section Id : 976755597
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9767558623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 7500 was borrowed at x percent p.a. compound interest for 2 years. If the interest after two years was equal to 25.44 percent of the
principal amount, then what is the value of x?

Options :
1. % 15
2.9 12
3. % 11
4. % 19

Question Number : 101 Question Id : 9767558623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

7500 ¥UY B1 IR P12 T8 & fog Ufdas x TR Tohgia SameT IR SR fordm T o7 | afe & auf & a1g, Saret gd MR o 25.44 Hia=d &
SRISR T, Y x BT Hed 182

Options :

1. % 15

2.9 12

3.% 11

4. % 19

Question Number : 102 Question Id : 9767558624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum was borrowed at 10 percent p.a. simple interest. If the rate of interest was reduced by one-fourth, then the interest payable after 3 years
would reduce by Rs. 937.5, then what was the sum borrowed?

Options :

1. % Rs. 12570
2. % Rs. 25000
3. # Rs. 1250
4. ¥ Rs. 12500

Question Number : 102 Question Id : 9767558624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfaay 10 UfA=Td TR ST UR e MR IUR ot T3 Y | TS 77 R P Uh-ahTs 4 fHar Jar g, at 3 98 & d1E o ST 937.5 ¥UY
q HH B S, o IYUR it 718 A e oo

Options :

1. % 12570 %UU
2. % 25000 ®UU
3. % 1250%UU
4.+ 12500 247



Question Number : 103 Question Id : 9767558625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train was travelling at 80 percent of its normal speed and reached its destination which is 240 km away in 5 hours instead of 4 hours. What is
the normal speed of the train?

Options :

1. ¥ 60 kmph
2. % 72 kmph
3. % 64 kmph
4. % 58 kmph

Question Number : 103 Question Id : 9767558625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YA 3T FTHG T & 80 UFA=Td TR TR R Tt 2t 3R 30 Tidad e 4 ¢ & IOl 5 6 T Ugd Sl 240 km 2 & | YAS Bt
A 71 1 67

Options :

1. % 60 kmph

2. % 72 kmph

3. % 64 kmph

4. % 58 kmph

Question Number : 104 Question Id : 9767558626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train travelling at 54 kmph passes a pole in 9 seconds. If the train increases its speed by 6 kmph how long would it take to overtake another
train 120 m long running at the speed of 45 kmph?

Options :
1. % 32.4s
2.% 6125
3. % 655
4. % 60s



Question Number : 104 Question Id : 9767558626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

54kmph3ﬁﬁﬁﬁ?ﬁi@@9@%ﬁ@@éﬁwm%|mW6kmphﬁmTﬁa@?ﬁ%jﬁ45kmphﬁ‘ﬂ%ﬁﬂ?ﬂ?’f
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Options :

1. % 3245

2.9 6125

3. % 655

4. % 60s

Question Number : 105 Question Id : 9767558627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are two athletes Sam and Kyle running around a track of radius 49 m. Sam is running at the speed of 44 m per minute. What is the speed of
Kyle if they meet at the starting point for the first time after 77 minutes?

Options :

1. ¥ 35m per min
2. % 25 m per min
3. % 28 m per min

4. # 30 m per min

Question Number : 105 Question Id : 9767558627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TUclic A AR BIEA B S 49 m BAT S Th ¢ S IR SR AS R &I I a4 m U e A iy A Qs w1 a3 77 e are
Tga SR Y3 foig W fHad 8 df w1sd &t 71 1 82

Options :

1. % 35m Ufd fie

2. % 25 m Ufd fie

3. ¢ 28 m Ufd fie



4. % 30 m Ufd fATe

Question Number : 106 Question Id : 9767558628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mustafa and Samir can complete a work in 24 and 36 days respectively. If they start working together, then on which day will the work be
completed?

Options :
1. * 12th
2. % l4th
3. ¥ 15th
4. = 16th

Question Number : 106 Question Id : 9767558628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 3R THR HH: 24 3R 36 G H TH S R AR Tobd § | Al I Th 1Y BT 631 IR B o, Al S I 37 IR B IR ERm2
Options :

1. % 129

2. % 149

3. ¢ 150

4. % 16d

Question Number : 107 Question Id : 9767558629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A takes 12 days to complete a work alone. But working together with B, they completed the work in 8 days. What is the ratio of efficiency of A
and B?

Options :
l.%2:3
2.¥2:1
3.%1:2



4. % 3:2

Question Number : 107 Question Id : 9767558629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gaﬁwmﬁwmﬁﬁ 2RATAEI AMFTIBF AN FHIRA R, A8 A A FH R IR A G| A 3R B B! HRIAAT BT SHIATd &1
?

Options :
l.%2:3
2.9 2:1
3.%1:2
4. % 3:2

Question Number : 108 Question Id : 9767558630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seema can do 50 percent of a work in 9 days. If she is assisted by Ratan at every fourth day, then in how many days will the work be completed?
Given that Ratan is one-fifth as efficient as Seema.

Options :
1. ® 16
2. % 12
3.4 18
4. % 14

Question Number : 108 Question Id : 9767558630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 16

2. % 12




3.¢ 18
4. % 14

Question Number : 109 Question Id : 9767558631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

32 women can do a work in 75 days and the same work can be done by 40 men in 60 days. They all started working together and if after 5 days
20 women and 10 men left, then how many additional days approximately will be required to complete the work?

Options :
1. % 18
2.9 20
3. % 15
4. % 24

Question Number : 109 Question Id : 9767558631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

32 AT 75 fa=i 7 U o1 R Fobdll § 3R I8t BT 40 T gRT 60 &1 & foar o Tevar €1 3 it U 1 1H & ot 3R Il 5
fat & a1g 20 ARRATE 3R 10 IV BIS T &, T BTH T HRA P 1T 1T fbem sifafad fai &t siaaepar grfte

Options :

1. * 18

2.9 20

3. %15

4. % 24

Question Number : 110 Question Id : 9767558632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cylinder has height 10 cm and radius 2 cm. If its height is reduced by 2 cm, then what will be the approximate change in its volume?
Options :

1. % 25.14 cucm

2. % 24 cucm



3. % 36 cucm

4. % 26.8 cucm

Question Number : 110 Question Id : 9767558632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP S0 D1 HdTs 10 em 3R B2 om B 1 TS THDT TS B 2 om I °ETS 1Tl &, Al §b AT | SIIHIT IRad- 31 g2
Options :

1. ¥ 25.14 cu cm

2. % 24 cucm

3. % 36 cucm

4. % 26.8 cucm

Question Number : 111 Question Id : 9767558633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cone of height 4 cm and radius 3 ¢cm is mounted on top of a hemisphere such that their bases exactly coincide. What is the approximate surface
area of the resulting solid?

Options :

1. # 72 sqcm

2. % 7543 sq cm
3. # 76 sqcm

4. 103.71 sq cm

Question Number : 111 Question Id : 9767558633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 om HATS 3R 3 om BSHT & T WG DI TH 37N & MY TR 3 R W1 T § [ I MR foepad B @ & | TROmH 31
SR ST &=thel T 82

Options :
1. #® 72 sqcm
2. % 7543 sq cm



3. % 76 sq cm
4.+ 103.71 sq cm

Question Number : 112 Question Id : 9767558634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A hemisphere of radius 7 cm is stuck on each of the 6 sides of a cube whose length is equal to the diameter of the hemisphere. What is the total
surface area of the resulting solid?

Options :

1. % 1176 sq cm
2. % 1500 sq cm
3.9 2100 sq cm
4. % 2000 sq cm

Question Number : 112 Question Id : 9767558634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 cm ST & T 3N B T T F 6 Bad! & I YAS IR FAuwHTar 71 § forde! e srefmd & o & SR1eR ¢ | URUMH 319 &1 $d
U & T 82

Options :

1. # 1176 sq cm

2. % 1500 sq cm

3.9 2100 sq cm

4. % 2000 sq cm

Question Number : 113 Question Id : 9767558635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The dimensions of a cuboid are 10 cm x 12 cm x 15 cm. If the length, breadth and height are reduced by 10 percent each, then what is the
percentage reduction in volume?

Options :
1. # 8.1



2. % 30
3. % 29
4.+ 27.1

Question Number : 113 Question Id : 9767558635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Th IATH & 3MTATH 10 cm x 12 cm x 15 cm & | TS GaT8, TSTs 3R HaTs &1 10 U= T G SITdT ], @ 3md- # ufa=rd o o g2
Options :

1. * 8.1

2. % 30

3. % 29

4.+ 27.1

Question Number : 114 Question Id : 9767558636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table gives the number of different types of shoes sold by a store in a week. What is the average sale of each shoe type for the
week?

Shoe size Sale
5 3
b L]
a 8

Options :
1. % 6
2.%3
3.5
4. % 4

Question Number : 114 Question Id : 9767558636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 6
2. %3
3.¢¥5
4. % 4

Question Number : 115 Question Id : 9767558637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pie chart below gives the details of the number of pets in a particular society. What percentage of the total pets are dogs approximately?

Number of pets in a society




Options :
1. % 16
2. ¥ 16.67
3. % 15

4. % 30

Question Number : 115 Question Id : 9767558637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e mar urE = et faRiy Tt & urerq SiHeR) &1 TRe &1 faaRuT <dT § | $ot UTad SiHaR) T TRTHAT fhd1 ifaerd ot 82
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Options :
1. % 16
2.9 16.67
3. % 15

4. % 30



Question Number : 116 Question Id : 9767558638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table gives the information of the favourite sports activity of the employees in a company. If all the football enthusiasts switched to
cricket, then what will be the percentage change in the number of employees liking cricket?

Sport NMumbers
Golf 6
Cricket 24
Football 12
Tennis a
Options :
1. % 24
2. % 12
3. % 20
4. ¥ 50

Question Number : 116 Question Id : 9767558638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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lEEE
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Options :
1. % 24

2. % 12



3. %20
4. v 50

Question Number : 117 Question Id : 9767558639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following bar graph shows the sale of different dresses in a month. The dress with the highest sale contributes to what percent of the total
sale approximately?
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Sale in numbers

Dress size

Options :
1. % 40
2. % 25
3. % 31
4. v 37

Question Number : 117 Question Id : 9767558639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 40
2. %25
3. % 31
4. v 37

Question Number : 118 Question Id : 9767558640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph shows the number of matches played by Ronaldo over 4 years. What is the average number of matches played by Ronaldo
per year?
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Options :
1. ® 30.75
2. % 345
3.9 375
4. % 40.6

Question Number : 118 Question Id : 9767558640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 30.75
2. % 345
3.¥ 375
4. % 40.6

Question Number : 119 Question Id : 9767558641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph below shows the number of items sold by a shopkeeper on weekdays. The maximum number of items sold in a day is what percent
more than the number of items sold on Wednesday?
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Options :
1. % 77.22
2.9 77.78
3. % 79

4. % 81.05

Question Number : 119 Question Id : 9767558641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 77.22
2.¥ 77.78
3. % 79

4. % 81.05

Question Number : 120 Question Id : 9767558642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph shows the death and birth rate in a city over three years. If birth rate in 2018 was lesser by 20 percent and death rate in 2016
was greater by 70 percent, then the ratio of the death rate to birth for all the three years would have been
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Options :
1.¥1:2
2.%2:5
3.% 21
4. % 5:2

Question Number : 120 Question Id : 9767558642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥1:2
2.%2:5
3.%2:1
4. % 5:2
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Question Number : 121 Question Id : 9767558643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. #* Virat Kohli is considered

2. % as the best batsman

3. ¥ between all the three formats of the game.
4. % No Error

Question Number : 121 Question Id : 9767558643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :
1. # Virat Kohli is considered

2. % as the best batsman



3. ¥ between all the three formats of the game.
4. # No Error

Question Number : 122 Question Id : 9767558644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. # As good as a carnival it was, it was

2. # nothing compared to the annual Canadian

3. ¥ carnival held every year on March.

4. % No error

Question Number : 122 Question Id : 9767558644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. # As good as a carnival it was, it was

2. # nothing compared to the annual Canadian

3. ¥ carnival held every year on March.

4. % No error

Question Number : 123 Question Id : 9767558645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. # The powerful campaign led by the opposition

2. ¢ drew massive influx of supporters for their clause and things



3. ¥ went awry for the government.

4, % No error

Question Number : 123 Question Id : 9767558645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. # The powerful campaign led by the opposition

2. % drew massive influx of supporters for their cause and things

3. ¥ went awry for the government.

4, % No error

Question Number : 124 Question Id : 9767558646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. % A part of the curriculum had been changed

2. % ecarlier this week as the education ministry found

3. ¥ certain subjects non benefiting.

4, % No error

Question Number : 124 Question Id : 9767558646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. % A part of the curriculum had been changed



2. % earlier this week as the education ministry found
3. ¥ certain subjects non benefiting.

4. % No error

Question Number : 125 Question Id : 9767558647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. ¥ Following the dreaded lunch

2. % he decided to never

3. # see her again.
4. % No error

Question Number : 125 Question Id : 9767558647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. ¥ Following the dreaded lunch

2. % he decided to never

3. # see her again.
4. % No error

Question Number : 126 Question Id : 9767558648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The sheer audacity of this album, (it's unabashed confidence and sense of drama) is jaw dropping.



Options :

1. ¢ its unabashed confidence and sense of drama
2. ® jts' unabashed confidence and sense in drama
3. ¥ it's unabashed confidence and sense in drama

4. ® No corrections required

Question Number : 126 Question Id : 9767558648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The sheer audacity of this album, (it's unabashed confidence and sense of drama) is jaw dropping.
Options :

1. ¢ its unabashed confidence and sense of drama

2. % its' unabashed confidence and sense in drama

3. # it's unabashed confidence and sense in drama

4. % No corrections required

Question Number : 127 Question Id : 9767558649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

It was a collaborative effort of many which (led to a successful and hardly earned endeavour).
Options :

1. # leading to a successful and hard-earned endeavour.

2. # Jead to a successful and hard-earned endeavour.

3. ¥ led to the success of this hard-earned endeavour.

4. ® No corrections required

Question Number : 127 Question Id : 9767558649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

It was a collaborative effort of many which (led to a successful and hardly earned endeavour).
Options :

1. # leading to a successful and hard-earned endeavour.

2. # lead to a successful and hard-earned endeavour.

3. % led to the success of this hard-earned endeavour.

4. # No corrections required

Question Number : 128 Question Id : 9767558650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(A congruence in class deprivation) and gender discrimination can blight the lives of poor women very severely.
Options :

1. ¥ A congruence of class deprivation

2. % A congruence at class deprivation

3. # A congruence on class deprivation

4. % No corrections required

Question Number : 128 Question Id : 9767558650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(A congruence in class deprivation) and gender discrimination can blight the lives of poor women very severely.
Options :

1. ¥ A congruence of class deprivation



2. # A congruence at class deprivation
3. % A congruence on class deprivation

4. ¥ No corrections required

Question Number : 129 Question Id : 9767558651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Not withstanding the abuses she dealt) with as a child, she turned out to be a great mother.
Options :

1. ¥ Notwithstanding the abuses she dealt

2. % Withstanding the abuses she dealt

3. ¥ With standing the abuses she dealt

4. # No corrections required

Question Number : 129 Question Id : 9767558651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Not withstanding the abuses she dealt) with as a child, she turned out to be a great mother.
Options :

1. ¥ Notwithstanding the abuses she dealt

2. # Withstanding the abuses she dealt

3. % With standing the abuses she dealt

4. # No corrections required

Question Number : 130 Question Id : 9767558652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank with the appropriate word.

Many individuals who want to remove a few hairs choose tweezers for the job.
Options :

1. ¥ errant
2. * arrant
3. ® errand

4. % err

Question Number : 130 Question Id : 9767558652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Many individuals who want to remove a few hairs choose tweezers for the job.

Options :
1. ¥ errant
2. * arrant
3. % errand
4. % err

Question Number : 131 Question Id : 9767558653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

I was most when that rude man cut me in the line for my morning coffee.
Options :

1. # indinavir
2. % indigent
3. ¥ indignant

4. # indigenous



Question Number : 131 Question Id : 9767558653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

I was most when that rude man cut me in the line for my morning coffee.

Options :

1. # indinavir
2. % indigent
3. ¥ indignant

4. # indigenous

Question Number : 132 Question Id : 9767558654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

It is paramount to an appropriate response from the world leaders on the antinuclear policy in the upcoming U.N. summit.
Options :

1. ¥ elicit

2. % explicit

3. # illicit

4. * tacit

Question Number : 132 Question Id : 9767558654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

It is paramount to an appropriate response from the world leaders on the antinuclear policy in the upcoming U.N. summit.
Options :

1. ¥ elicit

2. % explicit



3. # illicit

4. * tacit

Question Number : 133 Question Id : 9767558655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

He has outbursts on little things when he is hungry.

Options :

1. #* preonic
2. ¥ histrionic
3. % conic

4. % thionic

Question Number : 133 Question Id : 9767558655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

He has outbursts on little things when he is hungry.

Options :

1. # preonic
2. ¥ histrionic
3. # conic

4. * thionic

Question Number : 134 Question Id : 9767558656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.



Paradox of thrift was popularized by the renowned economist John Maynard Keynes.
P. Keynes further said that such a mass increase in savings eventually hurts the economy as a whole.
Q. Such a situation is harmful for everybody as investments give lower returns than normal.

R. It states that individuals try to save more during an economic recession, which essentially leads to a fall in aggregate demand and hence in
economic growth.

S. This theory was heavily criticized by non-Keynesian economists on the ground that an increase in savings allows banks to lend more.

This will make interest rates go down and lead to an increase in lending and, therefore, spending.
Options :

1. ¥ RQSP

2. % RPSQ

3. % RSQP

4. ¥ RQPS

Question Number : 134 Question Id : 9767558656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Paradox of thrift was popularized by the renowned economist John Maynard Keynes.
P. Keynes further said that such a mass increase in savings eventually hurts the economy as a whole.
Q. Such a situation is harmful for everybody as investments give lower returns than normal.

R. It states that individuals try to save more during an economic recession, which essentially leads to a fall in aggregate demand and hence in
economic growth.

S. This theory was heavily criticized by non-Keynesian economists on the ground that an increase in savings allows banks to lend more.

This will make interest rates go down and lead to an increase in lending and, therefore, spending.
Options :



1. % RQSP
2. % RPSQ
3. % RSQP
4. ¥ RQPS

Question Number : 135 Question Id : 9767558657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Only if the parameters matched

P. and under strict guidance,

Q. to enter into the enemy airspace
R. were the pilots allowed

S. and engage in

aerial combat.
Options :

1. # PSRQ
2. % PSQR
3. % PQRS
4. ¥ PRQS

Question Number : 135 Question Id : 9767558657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Only if the parameters matched
P. and under strict guidance,

Q. to enter into the enemy airspace
R. were the pilots allowed



S. and engage in

aerial combat.
Options :

1. # PSRQ
2. % PSQR
3. % PQRS
4. ¥ PRQS

Question Number : 136 Question Id : 9767558658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Pine nuts can rapidly become

P. and always check

Q. rancid due to their high
R. only small amounts

S. oil content, so buy

the use-by date.
Options :

1. # QRPS

2. % QSPR

3. % QPRS

4. ¥ QSRP

Question Number : 136 Question Id : 9767558658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.



Pine nuts can rapidly become

P. and always check

Q. rancid due to their high
R. only small amounts

S. oil content, so buy

the use-by date.
Options :

1. # QRPS

2. % QSPR

3. % QPRS

4. ¥ QSRP

Question Number : 137 Question Id : 9767558659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The term “free market” is sometimes used as a synonym for laissez-faire capitalism.

P. Based on its political and legal rules, a country's free market economy may vary.

Q. It is a summary description of all voluntary exchanges that take place in a given economic environment.

R. The free market is an economic system based on supply and demand with little or no government control.

S. Free markets are characterized by a spontaneous and decentralized order of arrangements through which individuals make economic decisions.

The range may vary between very large or entirely black market.
Options :

1. ¥ RQSP

2. % RPQS

3. % RQPS

4. % RSPQ



Question Number : 137 Question Id : 9767558659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The term “free market” is sometimes used as a synonym for laissez-faire capitalism.

P. Based on its political and legal rules, a country's free market economy may vary.

Q. It is a summary description of all voluntary exchanges that take place in a given economic environment.

R. The free market is an economic system based on supply and demand with little or no government control.

S. Free markets are characterized by a spontaneous and decentralized order of arrangements through which individuals make economic decisions.

The range may vary between very large or entirely black market.
Options :

1. ¥ RQSP

2. % RPQS

3. ¥ RQPS

4. % RSPQ

Question Number : 138 Question Id : 9767558660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Desecrate
Options :

1. # Sanctify
2. # Electoral
3. % Volatile
4. ¥ Violate



Question Number : 138 Question Id : 9767558660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Desecrate
Options :

1. # Sanctify
2. * Electoral
3. * Volatile
4. ¥ Violate

Question Number : 139 Question Id : 9767558661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Reprobate
Options :

1. # Degenerate
2. # Condemn
3. ¥ Virtuous
4. *= Hardened

Question Number : 139 Question Id : 9767558661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Reprobate
Options :

1. ® Degenerate



2. % Condemn
3. % Virtuous
4. % Hardened

Question Number : 140 Question Id : 9767558662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Saturnine
Options :

1. # Jovial
2. % Affable
3. ¥ Glum

4. % Convivial

Question Number : 140 Question Id : 9767558662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Saturnine
Options :

1. # Jovial
2. % Affable
3. % Glum

4. % Convivial
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Question Number : 141 Question Id : 9767558663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Quisling
Options :

1. * Arbitrary
2. ¥ Patriot

3. * Renegade
4. # Defector



Question Number : 141 Question Id : 9767558663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Quisling
Options :

1. # Arbitrary
2. ¥ Patriot

3. * Renegade
4. # Defector

Question Number : 142 Question Id : 9767558664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Malapropism
Options :

1. * Felicity
2. * Suitability
3. ¥ Solecism

4. * Eloquence

Question Number : 142 Question Id : 9767558664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Malapropism
Options :
1. # Felicity



2. # Suitability
3. % Solecism

4. ® Eloquence

Question Number : 143 Question Id : 9767558665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Verteberate

2. # Verteberete

3. ¥ Vertebrate

4. # Vertebreat

Question Number : 143 Question Id : 9767558665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % Verteberate

2. % Verteberete

3. ¥ Vertebrate

4. # Vertebreat

Question Number : 144 Question Id : 9767558666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Itinerant

2. # Itnerant

3. % Jteneant



4. % Ttenerant

Question Number : 144 Question Id : 9767558666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Itinerant

2. # Itnerant

3. % Tteneant

4. % Ttenerant

Question Number : 145 Question Id : 9767558667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Interdicition

2. ¢ Interdiction

3. # Intrediction

4. % Interidiction

Question Number : 145 Question Id : 9767558667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Interdicition

2. ¥ Interdiction

3. # Intrediction

4. % Interidiction



Question Number : 146 Question Id : 9767558668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Inemitble

2. % Inimitable

3. # Inemitable

4. # Inimitble

Question Number : 146 Question Id : 9767558668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Inemitble

2. ¥ Inimitable

3. ¥ Inemitable

4. % Inimitble

Question Number : 147 Question Id : 9767558669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Pig in a poke.

Options :

1. ¥ A deal that is made without first examining it.
2. # To eat a lot and eat it quickly.

3. % To shut-up or be quiet.

4. ¥ By constantly practicing, you will become better.



Question Number : 147 Question Id : 9767558669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Pig in a poke.

Options :

1. ¥ A deal that is made without first examining it.
2. % To eat a lot and eat it quickly.

3. # To shut-up or be quiet.

4. ® By constantly practicing, you will become better.

Question Number : 148 Question Id : 9767558670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

On pins and needles.

Options :

1. ¥ When you absolutely will not allow something to happen.
2. % Something that suddenly and unexpectedly occurs.

3. ¥ When multiple people all agree on the same thing.

4. ¥ Anxious or nervous, especially in anticipation of something.

Question Number : 148 Question Id : 9767558670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

On pins and needles.

Options :

1. ¥ When you absolutely will not allow something to happen.
2. % Something that suddenly and unexpectedly occurs.



3. ¥ When multiple people all agree on the same thing.

4. ¥ Anxious or nervous, especially in anticipation of something.

Question Number : 149 Question Id : 9767558671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Not playing with a full deck.

Options :

1. # Someone new to the group or area.
2. ¥ Mentally deficient

3. % To not accept a proposition.

4. % An unusually small or confined space.

Question Number : 149 Question Id : 9767558671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Not playing with a full deck.

Options :

1. ® Someone new to the group or area.
2. ¥ Mentally deficient

3. # To not accept a proposition.

4. ® An unusually small or confined space.

Question Number : 150 Question Id : 9767558672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Make no bones about.



Options :

1. # Savings set aside for future use.

2. % Strange or crazy actions that appear meaningless but in the end are done for a good reason.

3. ¥ Have no hesitation in stating or dealing with something, however unpleasant or awkward it is.

4. % Nonsense or meaningless speech.

Question Number : 150 Question Id : 9767558672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Make no bones about.

Options :

1. #® Savings set aside for future use.

2. % Strange or crazy actions that appear meaningless but in the end are done for a good reason.

3. % Have no hesitation in stating or dealing with something, however unpleasant or awkward it is.

4. % Nonsense or meaningless speech.

Question Number : 151 Question Id : 9767558673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Know the ropes.

Options :

1. ¥ To know one's place.

2. % To understand the details of a job or activity.
3. # To have basic understanding of a machinery.

4. % A quick and automatic response.

Question Number : 151 Question Id : 9767558673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom

Know the ropes.

Options :

1. % To know one's place.

2. % To understand the details of a job or activity.
3. * To have basic understanding of a machinery.

4. # A quick and automatic response.

Question Number : 152 Question Id : 9767558674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

A person who believes that nothing is known or can be known of the existence or nature of God.
Options :

1. % Apiary

2. % Agnostic

3. % Atheist

4. % Anile

Question Number : 152 Question Id : 9767558674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

A person who believes that nothing is known or can be known of the existence or nature of God.
Options :

1. % Apiary

2. % Agnostic

3. % Atheist

4. % Anile



Question Number : 153 Question Id : 9767558675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

Slow and clumsy because of great weight.
Options :

1. ¥ Ponderous

2. # Decorous

3. % Sonorous

4. % Valorous

Question Number : 153 Question Id : 9767558675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

Slow and clumsy because of great weight.
Options :

1. ¥ Ponderous

2. % Decorous

3. # Sonorous

4. % Valorous

Question Number : 154 Question Id : 9767558676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

Express severe disapproval of someone or something, especially in a formal statement.
Options :

1. # Centaury

2. ¥ Censure



3. #* Censor

4. % Centenary

Question Number : 154 Question Id : 9767558676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

Express severe disapproval of someone or something, especially in a formal statement.
Options :

1. # Centaury

2. ¥ Censure

3. % Censor

4. % Centenary

Question Number : 155 Question Id : 9767558677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

Remove matter thought to be objectionable or unsuitable from a text or account.
Options :

1. # Exult

2. # Expulsed

3. # Detach

4. ¥ Expurgate

Question Number : 155 Question Id : 9767558677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

Remove matter thought to be objectionable or unsuitable from a text or account.



Options :

1. # Exult

2. # Expulsed

3. % Detach

4. ¥ Expurgate

Sub-Section Number : 2

Sub-Section Id : 976755600
Question Shuffling Allowed : Yes

Question Id : 9767558678 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (156 to 160)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

During the Christian Era, the ecclesiastics controlled the institution of education and diffused among the people the gospel of the Bible and
religious teachings.

They taught the poor people to be meek and to earn their bread with the sweat of their brow while the priests and the landlords lived in luxury.
During the Renaissance, education passed from the clutches of the priests into the hands of the prince. It became more secular. Thus, under the
control of the monarch, education began to preach the infallibility of the monarch which meant that the king could do no wrong. With the advent
of Industrial Revolution, education no longer remained the privilege of the baron class, but was thrown open to the new rich merchant class. The
philosophy in vogue during this period was that of 'Laissez Faire --- restricting the function of the state to merely keeping law and order, while in
actual practice the law of the jungle prevailed in the form of free competition and the survival of the fittest.

Sub questions

Question Number : 156 Question Id : 9767558679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who controlled the institution of education during the Christian Era?
Options :

1. ¥ Clergymen

2. % Kings

3. ¥ Prince

4. % Merchants



Question Number : 157 Question Id : 9767558680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While the education was under the control of Ecclesiastics, what was primarily being taught?
Options :

1. ¥ The religious teaching of the Bible

2. ® The infallibility of a King

3. # The importance of science

4. ® The advent of Industrial Revolution

Question Number : 158 Question Id : 9767558681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the institute of education pass from clergymen to the state rulers?
Options :

1. #® During the Christian Era

2. ¥ During the Renaissance

3. # During the Industrial Revolution

4. ® During advent of Christianity

Question Number : 159 Question Id : 9767558682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following given statement is incorrect?

Options :

1. #® The ecclesiastics controlled the institution of education during the Christian Era and taught people the religious values of Christianity.

2. ® Under the sovereign rule of Kings and Prince, the education system became more secular and began to teach that Kings and princes were
incapable of making any mistakes.

3. ® With the arrival of the Industrial Revolution, education was no longer the privilege of the royal nobilities but was open to new rich
merchant class.

4. ¥ The Renaissance Era taught the poor people to be meek and to earn their bread by working extremely hard while the priests and the
landlords lived in luxury.



Question Number : 160 Question Id : 9767558683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“They taught the poor people to be meek and to earn their bread with the sweat of their brow while the priests and the landlords lived in luxury.”.
Who is “they” in this context?

Options :

1. ¥ The ecclesiastics
2. % The monarchy
3. % The merchants
4. % The nobilities

Question Id : 9767558678 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (156 to 160)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

During the Christian Era, the ecclesiastics controlled the institution of education and diffused among the people the gospel of the Bible and
religious teachings.

They taught the poor people to be meek and to earn their bread with the sweat of their brow while the priests and the landlords lived in luxury.
During the Renaissance, education passed from the clutches of the priests into the hands of the prince. It became more secular. Thus, under the
control of the monarch, education began to preach the infallibility of the monarch which meant that the king could do no wrong. With the advent
of Industrial Revolution, education no longer remained the privilege of the baron class, but was thrown open to the new rich merchant class. The
philosophy in vogue during this period was that of 'Laissez Faire --- restricting the function of the state to merely keeping law and order, while in
actual practice the law of the jungle prevailed in the form of free competition and the survival of the fittest.

Sub questions

Question Number : 156 Question Id : 9767558679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who controlled the institution of education during the Christian Era?
Options :

1. ¥ Clergymen

2. * Kings

3. # Prince



4. ¥ Merchants

Question Number : 157 Question Id : 9767558680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While the education was under the control of Ecclesiastics, what was primarily being taught?
Options :

1. ¥ The religious teaching of the Bible

2. # The infallibility of a King

3. # The importance of science

4. ® The advent of Industrial Revolution

Question Number : 158 Question Id : 9767558681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the institute of education pass from clergymen to the state rulers?
Options :

1. # During the Christian Era

2. ¥ During the Renaissance

3. # During the Industrial Revolution

4. # During advent of Christianity

Question Number : 159 Question Id : 9767558682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following given statement is incorrect?

Options :

1. # The ecclesiastics controlled the institution of education during the Christian Era and taught people the religious values of Christianity.

2. # Under the sovereign rule of Kings and Prince, the education system became more secular and began to teach that Kings and princes were
incapable of making any mistakes.

3. # With the arrival of the Industrial Revolution, education was no longer the privilege of the royal nobilities but was open to new rich
merchant class.

4. ¥ The Renaissance Era taught the poor people to be meek and to earn their bread by working extremely hard while the priests and the



landlords lived in luxury.

Question Number : 160 Question Id : 9767558683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“They taught the poor people to be meek and to earn their bread with the sweat of their brow while the priests and the landlords lived in luxury.”.
Who is “they” in this context?

Options :

1. ¥ The ecclesiastics
2. * The monarchy
3. * The merchants
4. * The nobilities

General Hindil

Group Number : 9

Group Id : 976755213
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Hindi Language & Comprehensionl

Section Id : 976755501
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755601
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9767558684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mwﬁ,aﬂﬁwﬁﬁﬁ,wiﬁmwwwﬂ H SN fou T4 et I fowe &1 9fY &1 9el fawed 7l
N

Options :

1. % IR
2. ¥ TR
3. % SR
4. % AR

Question Number : 161 Question Id : 9767558684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mwﬁ,aﬂﬁWﬁ@r,wi&wmqw P ol fou U 8! IfY fowse &1 i &1 98! fawed 8l
N

Options :

1. % SR
2. ¢ TR
3. % G
4. % CAORI

Question Number : 162 Question Id : 9767558685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



mg@ﬁuaﬁ,WWﬁ@r,wiﬁdwwwﬂ P Sl fGU U Teg & ol G fawsg &l [dbed 81|
T

Options :

1. % o7 + 3fff
2. ¢ o + Iff
3. % o 4 A7ff

4, % o1 +

Question Number : 162 Question Id : 9767558685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad vy H, IR fowddl 7 9, 39 fdded &1 99 & ol QU U Xeg & el 9 fawse &1 fdewed gl |
eI

Options :

1. % g7 + 3fff

2. ¢ o + 3t

3. % ¢ 4 Treff

4. % o7+ T

Question Number : 163 Question Id : 9767558686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied us o, IR fadedl § 9, 39 fddhed &1 9= 1 Sl faU 1T Teg o [T g1 dgey 9™ o {995 &1 fddbed gl

Options :

1. ¥ &8 I fRd

2. % U FRA

3. % Hf & FRa
4. % o R fRa

Question Number : 163 Question Id : 9767558686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafifed 8 IR el § 9, 39 e & ag- &3 S 3T 7T Teg & T I8t deqe J91a & faue &1 fadwea gl

Options :

1. ¥ HHH R
2. % A 9 fRd
3. % HH B R4
4. % HH IR A4

Question Number : 164 Question Id : 9767558687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferied Uy , IR fadbedl # 9, 39 [ddbed &1 99+ & ot UG 8 4 Yeg 1 gl [dcbed B
Options :

1. ¢ 3faRed

2. % §H

3. % TYq

4. % Tl

Question Number : 164 Question Id : 9767558687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifed uy §, IR fawedl 8 9, 39 f9sed &1 997 Y o SuH & 5 eg 1 Tg! fadbed gl
Options :

1. ¢ 3ffciad

2. % g

3. % HYF

4. % HEHl

Question Number : 165 Question Id : 9767558688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFufefad uy o, IR Al 7 4, 39 fddhed &1 999 B o YT I § ok b1 Ja! [Abed 8l
Options :

1. % 3UgTT

2. % d

3. ¢ TTAIh

4. % fORIHT

Question Number : 165 Question Id : 9767558688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffead us #, IR fadwedl § 9, 39 fdshed &1 904 o Sl Uy U 9 Yeg b1 gl fddbed 3|
Options :

1. % 3{Ugl

2. % d

3. ¥ dIdlh

4. % fRTHIOT

Question Number : 166 Question Id : 9767558689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

E@r@au&rﬁ,wﬁwﬁﬁ@r,wmmwmqw P Sl 4T U e T ddH &U Bl |

Options :

1. % gRg
2. % Yhc
3. ¢ Afgy

4. % g9

Question Number : 166 Question Id : 9767558689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Eﬁr@au&rﬁ,mﬁﬂﬁ@r,wﬁdwwwq P Sl foU U e T ddH ©U Bl |

Options :

1. ® gR%
2. % Y[hc
3. ¢ Higy

4. % 949

Question Number : 167 Question Id : 9767558690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy d, IR fadwedl 7 9, 39 faded &1 999 &3 o1 fGT U Weg &1 dagd U Bl
Qb C

Options :
1. % Tl
2. % dohdl
3. % Has

4. BHI

Question Number : 167 Question Id : 9767558690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawed! o 9, 39 [9aed &1 997 &< off faU T4 Xeg &1 dhgd ©U 31|
R[hc

Options :

1. % dig

2. % obd[

3. % Harg

4. & BHII



Question Number : 168 Question Id : 9767558691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoaa Uy & IR fawe # ¥, 39 fadey &1 7 &3 off SIS Weg o1 Fe! fahed |
Options :

1. ¥ SHR

2. % Ya

3. % qdld

4, % d¥

Question Number : 168 Question Id : 9767558691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofaied oy o, IR fawedl § 9, 39 faded &1 997 &% off oISl X &1 Tg! fadwed gl
Options :

1. ¥ SHR

2. % Jq

3. % qofldd

4, % Rl

Question Number : 169 Question Id : 9767558692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed gy o, IR fawed! o 9, 39 [dded &1 997 &< il HIdarad U311 &1 el [ddbed ol o
Options :

. ¥}

2. % qTgdTel

3. % guildc

4. % qldd




Question Number : 169 Question Id : 9767558692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiied vy o, 9R faded! # 9, 39 fadhed &1 99+ &< Sl HIadTad S ST g fddbed a1 5|
Options :

. ¥}

2. % gTgael

3. ® {ulldc

4. % qgd

Question Number : 170 Question Id : 9767558693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad vy 8, IR fawedl & 9, 39 fadwed &1 999 & Sl [adi Wee &1 98t fawed 5|
Gleap]

Options :

1. ¥ PG

2. % fgobrg

3. % gA®

4. % 9y

Question Number : 170 Question Id : 9767558693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad vy 5, IR fawedl & 9§, 39 fadwen &1 999 &1 Sl fadi e &1 98t fawed 3|
EAEAD)

Options :

1. ¥ HYEY

2. % {dprg

3. % YIS

4. % g




Question Number : 171 Question Id : 9767558694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR el & T, 39 I8] fah e &1 I B3 Sl TRl & folt Ueh e o1 A ed 8
ERGIR RS EARIG

Options :

1. % qOg

2. ¢ 3Tdb

3. % Yrdl

4. % dgd

Question Number : 171 Question Id : 9767558694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRed us §, oR fadeul # 9, 39 I fddhed o1 a0 DX Sil Tzl o ol Teh Reg; 1 fdhed Bl
%ar 9 e fufa

Options :

1. % Ty

2. ¢ 3dd

3. % yrat

4. % dg3l

Question Number : 172 Question Id : 9767558695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁﬁaﬁr@au&rﬁ,wﬁmﬁﬁ@r,wa@‘rﬁwwaﬂqﬁﬁﬁﬁnww%ﬂﬁa{ﬁmsﬁaﬁwﬁl
Options :

1. % fa|for

2. % §AMT



3. ¢ 1
4. % gdi

Question Number : 172 Question Id : 9767558695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬂﬂ@r@au&rﬁ,mﬁﬂﬁ@r,ww faded o1 Tg9 B Sl [T T Usg & Tet 3 &1 I fawed 71|

Options :
1. % fgior
2. % oMl
3. HYg
4. % Cadl

Question Number : 173 Question Id : 9767558696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e gy o, IR fawed! o 9, 39 U5 faaed &1 99+ & ol Rad ®IM & ot Iugad e &1 9! [dbeu 3 |
I & Fferg 3R B FHRUG AT A G s H AT AR S |

Options :

1. % &+

2. % g7l

3. % STl

4. IOy

Question Number : 173 Question Id : 9767558696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofefead vy &, IR fdeedl # Q, 39 98 fabey &1 9 & Sl Red ®IF & 7T Iuged Yeg o1 I8! fdhed @ |
1t & Sferee 3R Fo & HRUE I eH G e H AT AL ¢ |

Options :




1. % e
2. % ol
3. % T
4. ¢ IOy

Question Number : 174 Question Id : 9767558697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e uy §, TR el # 9, 3T by &1 98 &3 ot g Vg b1 It fArea B
Options :

1. ¢ S

2. % Sfd

3. % ST

4. % il

Question Number : 174 Question Id : 9767558697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad us o, TR fawedl § 9, 39 fawed &1 70 &L Sl Y Ueg &1 Gal fAhe 7
Options :

1. ¢ Sl

2. % SAfd

3. % ST

4. % Sgidl

Question Number : 175 Question Id : 9767558698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR fowedl & 9, 39 fawed &1 999 &3 o Y Usk &1 Ta! [dbed 7

Options :

1. % gHIaaR




2. ® ApTegRI
3. ¢ Braesff
4. % Fpeadlf

Question Number : 175 Question Id : 9767558698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, TR fowedl § 9, 39 fawey &1 999 &3 o Y Vs &1 Ta! [dbed 7
Options :

1. % gpTaaRit

2. % PpTearml

3. ¢ Biprarexit

4. # Piweaslf

Question Number : 176 Question Id : 9767558699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafefad oy &, 7R fabedl 3§ 9, 39 fadey &1 7o B ol feT 7T Treg F UMY WMo 1 fdhed A8 B
XY

Options :

1. ¥ g

2. % g

3. % QY

4, % HIT

Question Number : 176 Question Id : 9767558699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafaiad ge &, IR fadped! # 9, 39 fawed o1 90+ B3 ol feTU 7T Treg & THMATT WMo 1 faheu A8 B
3
Options :




LY
2. % Bg
3. % gy
4. % 4T

Question Number : 177 Question Id : 9767558700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & 9, 39 98! fadwed &1 79 &3 off QT T Weg-g & 31 &1 et fadwed |
TR 3R T

Options :

1. % HT 3R TgICd

2. ¢ TAf%a 3R TgIea

3. % HiaT iR fAfia

4. % gqa 3R HgIed

Question Number : 177 Question Id : 9767558700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR fowedl § 9, 39 98! fawed &1 7= &3 off 3T 7T Weg-gm & 31 &1 et fadwed |
G 3R YR

Options :

1. ® TPH 3R HgTed

2. « THf3a SR AgTea

3. % Tor 3R ffda

4. % UdaT 3R HeIed

Question Number : 178 Question Id : 9767558701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy &, IR fowddl 7 9, 39 fdwe &1 9a7 &3 oY AT 77U Meg & vafgare) Wec &1 Ue! fawed 78l ¢ |




€S
Options :
1. # 3d
2. % Oy
3. ¥ 3y
4. % oy

Question Number : 178 Question Id : 9767558701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed gy o, IR fawed! # 9, 39 [dded &1 997 &< ol faT 7Y Xeg & GaiaTd! Xeg &1 Il fddhed 181 © |
S

Options :

1. % 3d

2. % Hyi

3. ¥ g

4. % foan

Question Number : 179 Question Id : 9767558702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁaﬁ«r@au&rﬁ,wﬁmﬁﬁ@r,wﬁmmwaﬁﬁﬁﬂﬁm%aﬁwﬂﬁvmwﬁw%

Options :

1. ® Pt
2. DAl
3. % Diqgrs
4. % Bl

Question Number : 179 Question Id : 9767558702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

%ﬁaﬁ@au&rﬁ,mﬁmﬁﬁﬁ,wﬁwmwﬁﬁﬁnww%@ﬁﬁmwwﬁw%

Options :

1. % it
2. ¢ HAE!
3. % PHiagred
4. % AR

Question Number : 180 Question Id : 9767558703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁ!ﬁff@ﬁ%ﬁ,ﬁﬁﬁﬂﬁ@r,wf&dwwwq ®< ol foU TTU Teq & T 9gaa- U HT Ja 351 [dwe 5|

Options :
1. % 1l
2. % AT
3. % AR
4. RIS

Question Number : 180 Question Id : 9767558703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁq%ﬁf@?ru&rﬁ,wﬁmﬁﬁﬁ,wﬁwwwﬁ@ﬁnww*@mwmwﬁwﬁw%ﬂ

Options :
1. ® =Rl
2. % ARMT



4. ¢ TIfeAT
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Question Number : 181 Question Id : 9767558704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Wu&rﬁ,mﬁﬂﬁ@r,wﬁdwmdw B Sl DI H QU TTT Aeg & TR ITTH Y¥N dTeieh JA-1H bl Foi 31T b ey
|

Options :

1. % (319 ) 9gd &I Teid &1d Pol|

2. % (9%) TG 3T 9T 3P Ugd I S|

3. ¢ (WRT) B R EH & JHY T FhdT & |

4. % (@) 981 foar S Iat ol

Question Number : 181 Question Id : 9767558704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@au&rﬁ,wﬁwﬁﬁﬁ,w el BT TG B Sl DD | [T T Teg & IR ITH 3N drad Fa-TH &1 Ty 33T f[ddhed
|

Options :

1. ¥ (31U ) §gd g eld &1d ]|

2. % (98) TG 31 9T 3P Ugd I STa|
3. ¢ (WRT) STH RIEH H THT T Tl g |
4. % (A7) T b1 St et o

Question Number : 182 Question Id : 9767558705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRed Uy o, IR fadedl # 4, 39 fddbed &1 78 &< off U T 9T & DIl b1 Hal [dhed Bl
7318 zamm A @S gt

Options :

1. ® Ul gD
2. « TG Ydbrd
3. % quf Ydora
4. % 3TF YdbTd

Question Number : 182 Question Id : 9767558705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFafcRad Uy |, IR fadwedl 7 9, 39 fddhed &1 999 &2 o1 fGT TN a1 & &1d &1 el [dded ol |
ERIERIEERCIER T

Options :

1. # guf gdaH®@
2. « ey Ydbra
3. % QU1 YddbTa
4. % 3 YddbTd

Question Number : 183 Question Id : 9767558706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad ve o, o fawenl § 9, 39 famed &1 7o &1 S fou T8 ardd & e gia & 9 &1 9e 3T [dsed g |
THT § 3ol B RaTre! st a7 |

Options :

1. % ohard
2. % g
3. % g
4. Gyrad

Question Number : 183 Question Id : 9767558706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9, 39 fadmed &1 9 &< off fU T8 a1 & o 3 & N &1 ga o1 fawed g |
TH B 3o ot TSt 3t 1|

Options :

1. % Hard
2. % Hagrd
3. % fyand
4. Gyrad



Question Number : 184 Question Id : 9767558707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foffed Uy &, IR et 7 9, 39 fahcd o1 I8 & ot feT 7T are & ol U&l & Ve 1 9ad 331 faheu g |
39 gSdTd @ g ol g
Options :

1. % 3D
2. % drds
3. % Tfede
4. ¢ IRYYdH

Question Number : 184 Question Id : 9767558707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR ieeal 7 9, 39 fawcd &1 97 &% ot feT 7T are & ol uel & He &1 ey 331 faheu 3|
3/d gSdTel @H g ol B!
Options :

1. % Gae
2. % MIdRias
3. % Jfaede
4. ¢ IRHAdH

Question Number : 185 Question Id : 9767558708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed Uy & IR fawedl § 9, 39 fadhed &1 78 &1 off g a1 T I 3w [ddhed 5|
Options :

1. % gg Sliad &l US| &1 He<d gHid! o

2. % g Sifad W US| &1 A< gaara o

3. ¢ 9g Siia- H US| ol Hewd grelal |



4. ® AN H US| BT He<d A |

Question Number : 185 Question Id : 9767558708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad oy & aR fawed # 9, 39 fadmed &1 7 H3 off g a1 T I 3T [ddhed 3|
Options :

1. % g Siiqd &I US| &1 Hgw e i

2. % g Siia- IR US| &1 Ugwd qogral oY

3. ¢ g Silaq H US| &l Hewd qHal |

4. % qH Sita H Ul bl Hewd FHE! 9

Question Number : 186 Question Id : 9767558709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy o, IR fadbedl # 9, 34 fddbed &1 78 &< ol G5! d1e HG &1 f[ddbed gl
STETS! T8 B 7T, WR 1 1 st forgn 77T |

Options :

1. ¢ Igad a1

2. % Ty ar

3. % YYddeh dieg

4, % I A

Question Number : 186 Question Id : 9767558709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRad Uy |, IR [adwedl 7 ¥, 39 fddhed &1 999 &2 o1l el d1ad He &I f[ddhed gl |
STETST ¥ 1 74T, UR AT <1 it fera v |

Options :

1. ¢ Igad a1

2. % gy ar




3. ® JHddd did]
4. % A dIHY

Question Number : 187 Question Id : 9767558710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy |, IR fadedl 7 ¥, 39 fdwed &1 999 &3 5l Yol d1a0 He &l f[adbed gl
R foaR g o 3 T S99 faer o |

Options :

1. % [qYTardes drag
2. % A I

3. ¢ 0y arey

4. % IgId IR

Question Number : 187 Question Id : 9767558710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy |, IR faeddl | 9, 39 f[ddhcd &1 a9 B3 S Tgl a1dd He &l [dhed gl |
R AR g fob i v 399 i o |

Options :

1. % fqyHaras a1
2. % IR I

3. ¢ [y I/

4. % HYId qIRd

Question Number : 188 Question Id : 9767558711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR fawedl O 4, 39 fawed &1 99+ &< SN faR1d forg god a1 &1 Hat fdded gl |

Options :
1. % <al & D A Hel," SRR 3t ot TR SiEdR 81 T




2. % ¢dl o 9T 3 Hgl," RIS 31t ot TeRT SEHR =18 T |
3. 3l & e 3 g, oS! 31wl o R IR Al T
4. % 91 % 9P 3 FET SRS 31t ft TRRT SEHR el T

Question Number : 188 Question Id : 9767558711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR fawedl O 4, 39 faded &1 o+ &< SN [aR1 foig god a1 &1 Aot fdded gl |
Options :

1. % ¢al & AP A Hel," 3R 3t ot TR SiEdR 81 T

2. % <Al & D A HET, SRR 3t ft TeRT SEHR gl T |

3. ¢ <Al & Af® A el SrRRRren aft 1 IIRRT SEHR T8l T

4. % a1 & AMH 3 HeT SRR 37t ot TR SR Tt Tt

Question Number : 189 Question Id : 9767558712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy ¥, IR fowedl 3 9, 39 fdded &1 9a- & off (R g gad 919 &1 Wal fadbed gl
Options :

1. % qTg X1oT faehY a18 qHA oA d dle = fdn g Sdrd - Fel

2. ¢ "qTg! Tl fashH! 918! JHA e d Sl =um fasan g et A &)

3. % gTg! T fash ! a18! grH fodga dle <ard fasa § odTd - &g)

4. % gTg! I1oT faehH) A1) T foaed dles =ard farar §) 9aTd = dal

Question Number : 189 Question Id : 9767558712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy O, aR fasedl & 4, 39 fdeed &1 99+ o3 Sl faR1 g god ared o1 9al fdabed 31|
Options :

1. % g8 I fashd a1 qHA faaed 3t =g fohan g 9drd 3 Fel

2. ¢ a8 I1oT fahH! aT8! THA o 3l =g foran ] SdTel A &gl



3. % gTg! 1ol fash ! I8! T faded die <O fordT § 9drd A &g|
4. % T8 I1oT faehH) A1) T foaed i =urd fara §) 9T = dal

Question Number : 190 Question Id : 9767558713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiad uy & IR fawedl § T, 39 ey &1 T &3 St T U Aipifad &1 gl o aran faseu 3|
g1t & Ufg & a1 Ui -

Options :

1. ¥ 981 & 1Y Igdl BT ORI & oIl §

2. % Uit Ao

3. % forT & U o1t o= HHMT

4. % ST HH 991 A

Question Number : 190 Question Id : 9767558713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad oy 5, IR fawedl § §, 39 faded &1 7g9 o3 S 3T U disifad o1 Iet orf aran fawed 31
g1l & Uld § gaoh] Ulq -

Options :

1. ¢ S5 & 1Y Sgdl BT ToIRT 81 Sl &

2. % T[Uf i

3. % o1 &d fob affeieh o HHmT

4. % ST B 9 B

Question Number : 191 Question Id : 9767558714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR foweal 7 9, 39 faweu &1 9g7 &% ot feu U deifad o1 gt 31 arerr fapea g |
&4 e, g9 fAara -
Options :




1. % Tt 3R uReedt e

2. ¢ Ui i

3. % 3fU @Y & fore RR b1
4. % HEN D AR BT FS

Question Number : 191 Question Id : 9767558714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR el 7 9, 39 fahcu &1 9g7 &% o feu 71 Aieifad o1 gt 31 arerr fapea g |
g4 wrdT, gH fAdrer -
Options :

1. % e 3R afeedt e

2. ¢ 9E i

3. % U WU & o RR b
4. % HEN D AR BT TS

Question Number : 192 Question Id : 9767558715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy & IR fowddl 7 9, 39 fddey &1 90 3 o AT 71U Aeifaa &1 98t 31 aren fasweu g |
gING @ bS], Uhal I Uh e -
Options :

1. ¢ 3T 7S St 30T 86 T8l Bredl

2. % HEH AN Bicl @ RIe/ad o tRdTg 78! Hd

3. % Sl 9% 9 51 39 RIg R D1 STa=addl Aa
4. % IR, STHT NI BT HHTS BT fhold T g1 ST

Question Number : 192 Question Id : 9767558715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR eeal 7 9, 39 fahcd o1 987 & o feu U Aeifad o1 gt 31 ararr fapea g |




gINT @ ddbs!l, Uha! I Uh e -
Options :

1. ¥ 3 7S St 30T 86 el Bredl

2. % g AR BIc! & RIbTad 1 URdTg 8! dd

3. % S o I 81 34 Rig B D1 Sa=ghdl -Tgl
4. % IR, STHT 3NfE DI HHTS BT fhold Td g1 ST

Question Number : 193 Question Id : 9767558716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad ve o, TR fawenl # 9, 39 fadhed &1 7= B3 S <t 718 HaTdR &1 Ue! 3 arer fased g |

I 3S-1-
Options :

1. % U RIS g

2. % e g

3. ¢ JUSd WS DAl

4. % G 31Gd DI 9 Bl

Question Number : 193 Question Id : 9767558716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafofad oy & o fawed # 9, 39 faded &1 7g9 & ot &t 718 GeTaX &1 Ja! 3 a1 fadwe ]
T 3S-1-

Options :

1. % YT WRIE g1

2. #% g

3. ¢ JUGd WS B

4. % G 3TGd Bl H Blel

Question Number : 194 Question Id : 9767558717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR faweul # 9, 39 fadhed &1 707 B Sl < 718 JgTdR &1 et 3 arer fdsed g |
ad AT -

Options :

BERCNERIRCE]

2. ¢ Gd HY B B oAl

3. % Tt g Bl HIH B ol
4. % 1Y 3T

Question Number : 194 Question Id : 9767558717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed Uy & aR fawedl § 9, 39 faded &1 9g9 &3 ol &1 718 JeTdX &1 Ja! o a1 fadwed g1
o T -

Options :

1. % Woad! g

2. ¢ G HY HR BT AT

3. % T I8 DI HIGH DR AT
4. % 1Y M

Question Number : 195 Question Id : 9767558718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawedl § 9, 39 fawed &1 9g9 &3 ot &1 718 GeTaX &1 Ja! 3 ara fadwed §1
Options :

1. ¢ g1 H 3MURI H=Al

2. % DIs IS HTH B

3. % ggd BT B

4. % IO BHRAT




Question Number : 195 Question Id : 9767558718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawedl § 9, 39 faded &1 7g9 &3 ot &1 718 GeTaX &1 Ja! 3 ara fadwe 71
JF-ura -

Options :
1. ¢ BRI H 3MgRI BT
2. % DS IS HTH B

3. % ggd BT A

4. % IO BRAT

Sub-Section Number : 2
Sub-Section Id : 976755603
Question Shuffling Allowed : Yes

Question Id : 9767558719 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

3 fou M iR o 91 5 Uy AU TR § | 39 IR ) ATgad g SR dR fawed § ¥ Udd Uy &1 9araH SR g |

U} ate UTyfidhdT SiHeRedT g A1 8 | 59 &3 H gaR 9 uad fAvhd 38 & | U1 o 82 T Suforg o 81 e & for won &
ST B8R UH DT T ST Fol XA g | SHERSAT el & foTE T8 3| Bl 3faR g | ISHIa7 sS4 dic 8 I e A g@di ol T
TA-30 T 9§ T &) G & o &1 31d: SeRT-SeRT fr et & g1y Gherdl 18] el | TR I8 WP & b URaR & PR W e
famT 3R fRren &1 9gd WU USdl 8 | Ja1 Sfdie fAeT &1 Haad TYTd AR Hifddhdlg el el arel &1 aigt {191 oiTdl & | gAR fag
a‘ragammqﬁ%dﬁ%wﬁﬂaﬁa%luaﬁ@wﬁ@wwﬁwwﬁﬁlhﬁ%wwﬁ?ﬁ&mﬁﬁwm%mﬁ
I FRIS AT B SHoll DT I5aR SWIHT Bl Udb | I THR Teil- R o 51 I8 JAS § Th ¢ UDHR &1 i Ual St o AT
sﬁ?@ﬁ%ﬁﬂ%%ﬂﬂgﬁﬁéﬁ?ﬂﬂﬁﬁ%ﬁwwwmlﬁ@m 3{d: SIS & TN AT g | T8 3Hbal
IRPHR o Gorall Yahcll | HEHR01 Y §ehr 39 UTH-UTH, fad-cafad dob Ugarl 1T | STd ddb T8 S--3MTa e gl o il a8 db
AT foreT Tfery 7

Sub questions

Question Number : 196 Question Id : 9767558720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG & IR UK Hdred Wi & g2




Options :

1. % gt DI UIS 9 I IUA BRI
2. % SEE § gfg A1

3. ¢ ST gig b

4. % gut &l § ggd BT

Question Number : 197 Question Id : 9767558721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T & fort fpg 1T @t oadl & SRt d 1 1 T HRUT §drdl T 62
Options :

1. % gt BT UDhC Bl 1Y ST

2. % 3agd a1 G g 7 ugar

3. % 3(ARID IU| Bl HH gl

4. ¥ SFEET AT & Ul v Y TP S T g

Question Number : 198 Question Id : 9767558722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS &1 THRT B b o [0 TN HGH IS AP 62
Options :

1. % 3 IO D] 3= A T ST G

2. ¢ 3 GEW B 5 T Ia ST

3. % Y YW & IR T $S 5l gfgoiliadl I dTd Bl

4. % RYth WBR B! 51 3D IR T G & b g g1

Question Number : 199 Question Id : 9767558723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST A P - 7 Reg Wy T Gl 2reg 781 32
Options :

1. % 3yfAfyg




2. % Hdgrug
3. ¢ fAfdare
4. % qR1eht =fad

Question Number : 200 Question Id : 9767558724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3G Bl Dl IUYad XMieh-
Options :

1. % Heeb! SeM1-eHT I

2. ¥ ST A

3. % i g 3nfies fasry

4. % GIHTID ol

Question Id : 9767558719 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

T fou T MR % 91 5 U AU TR €| S T ) Yd e U 3R IR faded! H U TS Uy &1 Farad SR g |

THR] Yl UTUTHehdl SIHRReAT Gl b1 6| 39 & H gHR T4 Ugd Muhd 36 &1 U9 &l 82 U8 39iag Wi 81 9ebdl & o guaan &bl
G BT g TP BT YD AN IO § | STEST WM & T T8 3Hips| BT 3R g1 ISHITAT 39 dIc db B eP I Sadi 8| A I
31Y1-3{U ST 4 FHRT b1 o H &1 § | 3Hdl: STeRT-SHer fobit & g1 Herdl 781 @il | IR g WY g fob URAR o SR TR 31feh
faT MR e F1 9gd THTG USdl ¢ | Tg1 S O™ &1 Aaad Uiy TdTIaR Hifddbdig g oiel aai &1 argl AT Sl § | §AR fag
A T8 GHMYGD S &b &R & Fefid 8 1 T8 Hisfel YUy AT aarur iR & FeiR 78t & o Ot et 3rgm @ geifera @ fors
S HIAS AN D1 Sl BT dgdR SWIHTH 8l T | U UHR TWi-rem 17 31 I8 THS H T U UHR &1 fid A1 Hft or aranfores
3R T faepTe & 1T ST Geitl 3R 1Y § 2l o [IBT BT a1 IR Ht Gl | 31df: SRS ) FHRIT FHITD & | T8 bl
Wﬂ%ﬁ;@%ﬁ%l DHEIHN H g Y UH-ITH, Afdd-Afdd deb UgdHl 8NN | Sd deh Ig SiH-3HTala el a4 SIdl ad ddb
HpAdl |

Sub questions

Question Number : 196 Question Id : 9767558720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS & IR SHRI Hafe Wrdfidsd & g2



Options :

1. % gt DI U9 9 I IUA BRI
2. % SR H gfg AT

3. ¥ SIS gig A1

4. % gut &l 4 ggd BT

Question Number : 197 Question Id : 9767558721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST fAd =0T & fore fore e it ol & STt B9 T a1 HIRUT ST 1T 82
Options :

1. % gt T Uhoc Bl 1Y ST

2. % 3aRg® a1 G I 7 ggaH

3. % 3{IIO®H Ul Bl DA BT

4. ¥ SES GHET & Ufd g B U I T B

Question Number : 198 Question Id : 9767558722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STRIREHT P GHTT B b & [oTT T HEH ISMT AP 82
Options :

1. % 3 JOWI DI 3= A T ST G

2. ¢ 3T U™ DI S TSI ST

3. % Y YW o IR T $S ol giaoiliadl I aTd Bl

4. % 4% PR B 1 $UD IR T YIATG ¢ & o Hgl

Question Number : 199 Question Id : 9767558723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T8 DI - T Xeg, Jfery o1 JuFf 2reg; T2 82
Options :

1. % 3fffga




2. % Hdgrug
3. ¢ fAfdarg
4. % Q1N fad

Question Number : 200 Question Id : 9767558724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 3¢ B Plg JUYad Xub-
Options :

1. % Ph -3 Tl

2. ¥ SIS A

3. % i g 3t fasry

4. % TS T




